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WHAT BELONGS TO SETM P
HONDA SUZUKI, YAMAHA
WHILH LOMPANIES MAKE BoTH
% MoToryeLes » HONDA, SUZUKI
U = VEHiCLES THjs s THEINT ERSECT QT
WHY i3 BMX ovIsiPE THE ciReLEs 7 1T IS NOT MOTOR POWERED

B J T v AND FINALLY. . .
5D dE

B-112345 } T-{ 237 3 T-(1050100 } wv-{20.405060 }
Iuterseerion-( _2.3 )} INrerseetioN-{_50  }

MX

SiMPLY ALGEERAS
O+ O+ O =0

| APPLE ANP 1APPLE ANP | APFLE . .-
+ .. YoV HAVE 3 APPLES

a+a+q=ﬁ_b+b+b+br =
d+d+d+d+d+d -

etet+te+e+rere+ e+ et e +te+r ot €

2F + § = 3' +37 .
&h + 3h = 97?_ 52‘2+8»=%3I"k
7 + 145 - L) 4k + 6k =D
z‘ltrzjwu _éL8mf7m=]5

@@ - @6 =@

You'NE 4oT 3 DovbHNVTS 5 EAT TWO 5 You HAVE | POUGHNUT

=NOowW SiMPLiFY

54—24=_d_ 3e - 3¢ -
13p -zp- 1P 16q - 24 -
7r—4r=3L s - 7s -
gt -3¢ -5t 16w - 50 -
14x - x = 13X 1Zy - lly =

WHAT 70 MONSTERS REAP iN
THE NEWSPAPER £

=— SiMPLiFY THESE EXPRESSIONS T FiNp -msfwswaz

H]30 + 4n =7n [T]11n - <1ON

[E|6n + 8n -1?4n E 90 - +n-%n
4'n+5n-n 150 - 7n =8N

n +2n + 3n-6n 3n - 2n —rl-O
THE HORRORSCOPES

100 70 190 In 5n © © 5n © Bnbén 50 In 14n Bn

e r e e c= 4C

_b
a-_8d
- 12e

<ERE[~
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OV 4o SiM PLIFY ANp. ..
OG+@e@+ B+ @@ = +

ZAPPLES o 3 DoVaNUTS MPFLE 5 2 POVGHNVTS. .,
..YoU HAVE 3ArnES % 5PoV4tiNIS
Now WRITE T‘HEﬁﬁsuMSm As.mr é{WAy
2Zq+ 34 + a +24d =
4at 24 +
5et+ 6F + 2e+ 3F = ]72€+
89+ 2h + 49+ 5h = +
104y + 9K + 124 + 17K = 2§| .
zt+ b +2v-v = 3t ¥
60-7—-u+7n+1‘n=6U+ n
Ir - %r + )z +8 = 0OF .
20 -1l + Tm - 2Zm = +
|Zx— 6x + 152 -8z = 6X 1

e bed
PONT MONKEYAROUND.,, OK/

5iMFLiPy THE EXPRESSioNS BELoW ,
ANp MATCH THEM WIiTHTHE ANSWERS AT THE BoTToM
oF THE PAGE .THEN SHApE iN THE LETER ABoVE
To PjseLosE PRIMATE PALS.,

2g+d = a+

lox + 8x=18x

Ex +6x+2Z=Ix2 19x -4 x =5x

4x +8 +x =5x+8 17x - [[x +4=6x+4

6 +3x +4x =612 5 + jox - 2.=3+0x

4+ x *2 +7x=T8x Ax - x -2x =3x=3X

Zx +3 +5x t10 =73 4t 3x +Tr +8 +4x=12+l4x

GORILLAS

TEF O%BRA /

=i

w SoME caNaﬁrrs -ro
4e mews Souw Muf‘tlDlted bq c
be Mews _b Mul‘tlbhed by &
c*  Means Square ttiplie rtSe|§>

c means C_divided bu 4

—NUW SiMFLiFy., oK ’

-l?‘ Zab Er .6 = 30'/ 5n,n—5V\
IZCd tv.v = ‘t\/ 4131
h=120h 24, 3p- bab_os. 7s—7_7

,m=3m 4'0-5-"‘Mt_uv.v= v

2

c2p=2p 7i,.|oj=703', 8= . 72

2

20 - 2 ab - h_ 6z = 6

4 3v .5 l— 7v.2 ,,

Zv 7v F\/-3v
ftav A 46v \

CROAKA QQLA

15v I5V* 12v 16 I9v* 16 I5v 12v 14V |6

26w w27
234~ & 29

IF A MEAL CosTS $10 THEN Z MEALS cosT 20
IFABUN cosTS $1 AND A PRINK cosTé $2Z,THEN.. .
.. .5BUNS X4 PRINKS eosT $ 13
Sb+4d =5(1)+4(2)=___
WHEN WE REPLACE LETTERS BY NVMBERS, WE ARE
stituting then evaluatinq

NOWQGIVENV Z,e=3, x 5,
FlNPTHEVAUIE oF

v t e %_g4—x= 8
X t Vv v+vv9_6_

3v j__ ée - Io -_8
ACROSS pPowN
v5v =10 L 5v+3=13
g3x+v2=[]  z3x-1:=l4
y8e=24 5 1ov =20
46x+4=34  g5o0e +1=[5

bdet+ 2= 14 ;IZV+ZX=34
25c+3x=30 15 6v - 4e=0
§lox - 6:=44
34vr7-5

FiNALLY, GiVEN 5 -1 ,p - 44 y =10, EVALUATE:

351”7: 7 Zy—Fz ]6 55+§F=26

ip+iy L‘Z’-S:Zyzzzzé i::7szL
s_g_-]D_ F3+s=i__ %)L= [3
z P

’

RS er

4ivEN P=4 Q=5 R=6

ANp THESE V) ,..%

A=FP-3 B=K-F E-R+2
4=ZR-Q I-Q@+3 L=zf+ 1
M-2q-¢6 N=1l-R o0=3R ~ 12
R=F+R 5-FQ T=-4QR
V-@q(F+R) H=Q+R

...FiINp THE Q. K- MESSA4E

LEARNING
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% -  x O/ 3 /7
- oK
“MULTIPLY % pivipE ~— =
NiFTY NUMBERS PANDY DELIMALS BEFORE wAno_is'itEM b
7+8=]§ 04 + o0 = 05 / =
- =_08 . + .3 = . = _
% 6o & oa- o oy qrexz= 20 72302+ B 7e3n2-0
1+ 3=_2 0-3-03-_0 6+9x2-24 g 5+6 = _46 Br+5xe6= 38
6+ 5=—%— vz + 07 = 19 4-1 x3= 1 20x2-4= _36 20-2x4=_12
A "3""7’0—” 0-3x3=_l dx2-3= 15 q-2x3=_3
4 x 7 = 3 xo0-2 =_06 I “ - .’( _3—
751 =_1 2 x 0-4 =08 20-5x4= 0 40:4+5=15 _ eo+6-7=_35
> - 0.6 03 1:2_06 = COMPLETE THE EQUATIoNS BELOW BYVSING +,=5 X, =
T 2 2 Si4NS iN THE AN/
RADi¢AL ROMANS EXTRA EXAMPLES 5 x 4+8-28 10x3 +2 <32
ur=_3 123 + 200 = 323 48 T 6-3=5 63+9—1 =6
V=‘§_ 300 + 300 = I+4x9=37 7+éxz=1
VI =_1[_ 200 - |85 = ]5 80 — 8% 3=56 76 =10 X 3 =46
x.—=Jﬁ)_ 300 — |40 = 1z+3+4=n §x 4 x1=20
1=_1_ 40 x 5 = , ’
v : 2 ;Z f_ '50 :iO_O_ M‘V\T MMES FIK”_?PD THESE SVM‘TH’Z /Fi'lc‘spWEKf
_U]” = 8 1zo0+ 10 = 120 (6+3)x2=18 [o] 7+1x6-13
o2 Biraa-im (6-4)x520 [F] 6+8x3=30
THE QViNTUS Quiz [c] 3x¢4+n) =15 ([r] a+2x7-23
T LeFr oMEAT _800 | ororeer 4-00 am. (e] 8x@-7y-16 (1+4)%=25
IT TooK _60 MiNVTES To LEFTHOME 8-00 .
GET TO SLHOOL . SCHOOL WENT | dorro scHoor. 4 -00 (H] 2x5+4 =14 3%+2 [l
For. —b___HouRS . SUPPER. ScHeoL FiNisHep 300 - 2 R
was AT 8.30 TopAy, T WAS | Arkivep toMe 4-00 (K] 53 +2=17 4 -4:l2
OUT oF EP FOR Hors. | e §-50 [N] 6x4-5-19 5° +62 =6l
— BR IHEN POWERS
NUMBER OF MiSTAKES 2o zs%%%]%%g I 141619 3013 1216 23 25
Vg 7

0+23456= 23456
[4 nMegrR __STAYS WHEN APDED To ZERO”|

6-4=_2 15-8=__1 406x0=0
6-0=6 __ 15-0=15__ ox51=

194 -0= 194 2013-0=2003 oxo2=0
gxd=12 jzxn=132__ zoesx0= 0
gxo=0 jz2xo0= ox345= 0
32x0=0 __ 167%x0=0  oxq.03=0

|‘ANY NUMBER MuLTiPLiE» By Zero — EQUALS ZERO "

N ATy weE PUZILE S
94-5x0=9 (N] 12-5+0x3=7

@ 0+4x2.=8 5-0+3+0-4=4

] oxi0+2=2 (U] g+2x0+3-2<10

(2] 2040-14-0=6 6x5 xox4=0

[e] 2+0+3-5 (R] 32 +4+8-
“NUTIY NOTHING TIURNSs
710440 754267

8 4101 17
INTO NAUGHIY NOUGHIC,”
6 7 45 7 9108 240 7 510824
~Oh Lalka’

To MAKETHEM ERVL |
27-12 i5s-0 30+
9+ 6 5x 3 7+8 eo - 45
3+ 12 22-1 13+ 2 2x3+9
2x4+ 1 25-2x5  s5x8-25_ _4*-1_
=Now FAIR THE SuMs BELOW THAT EAVAL
THE SAME NVMBER/
6+8 Q| 0| (9+1)+ 10
12-4 of o| 16-13
I5+5 of o| 64 +8
12 % 4 o] 0| 28 <2
(29-7)<11 |9 6 x 8
— NEXT,UNPERLINE

E SUMS THAT EQUALIZ
s?'oima THosE THAT EavAL 9.
A 3 Lor8xz  (18+6):2 _A+3
57-45 4x3 18 -6 8+o

o

~HOW MANY piF FERENT NUMBERS CAN Yov
I B VSiNG ONLYTHE NUMBER 4 FovR TiMes/—

(U7+5)-12

4iqra—4=1 (44145
(x4 +(4x4) 32 _ (44 14+4=6

4-4+4%xF =16 4+4-4 14=7
4-4+4-4-0 4+4+4-4-8

4 4+4[ 14=2 4] 14+4+4-9
(4+4+4+4) 143 THERE ARE STILL
4(4-4)+4-4 MANY MORE
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(4 ’
SoLVING is PRINT THE POSTERBOARDS,
THE BEST soLvrioN exercise EXTENDED:: 55310
AN EQUATION s ANATHS SENTENCE THAT CONTAINS AN EQUALS 6N y=% =9 y=12 X-24-40  R=44
EXERCISE EASY: brll =20 =9 La-=16 n=32
F+8=q p= 2+a=6 g- t5=10 F-m=7% m=12 Gs+l=6 s=1
qr7-i0 g 3z 2-_8 n+9=12 23-d=8  d-15 Je+d=10  es2
Feht po_l xr2=8 x- _b e-2=| txt=100 t=10 2h+9=19 Q=3
224 b K16 ke I r-6-2 w<3=9  w=27 4k+l=17 k=4
6-3=d d-_3 m-i=4 m=_5_  v-1=1 g+g=1 g=8 3f-2=10 =4
Exercise EXCITED: -7-8 =I5 4a+2:22 a=5
2g=/0 a=2 3-8 =16 12-p=i0 p=2 I2Zv+5 =51 v=4
4b=40 )= 2-0 p=30 q+A=42 q=73 Ge+d=30  c=7
bc=18 c= 5
701:7_4_ d=_8 i. =6 r=24 >
;f:Zﬁ,’ 7%:—67— $- 560 suzy $OLVE ANY EQUATION, AND
8g-=88 g- il t_4 ¢-36 SOLVER ~ WRIiTE THE LETTER ABOVE THE CORRECT
Ioh=200 = ZQ 9 ANSWER ON THE BOARD ,
9 =9 i=_1__ = u=10 f{;*;;*\“’j a9 50241994 F =740 4N-184
Y WovLp Yov NEVER €O HUNGRY T =0T Ry264772:674 90- 882
wH iN THE DESERTT P Etret-20e fQ, =99 BE =376
—50LVE THE EQUATIONS To fiWp OUT.., v ";"3*26‘;‘7‘7} 3t =48 7L=4%4
. = re= R 20 d4 100 Fr300° 21 =74 bW=234
2t7|t?=|260 i:? fﬂ:wi; rf:27 th- =%3O r=l3 215 751708787 10B+18=148
2xt=60 =5 88iw=8 Ll 48:h-4 helZ 200N 60T To S0ON GONE
7+5-23 o  18+4=35 oI5 ori3-29 Ol 00N RIPE” Sodt" R OTTEN
e-4=9 o9 axi=72 T8 30 —a=‘110a_|0 _)B f“’“gg :"EIQN ““NE weﬁtg I
B E E - 13 91 44 Q N1 7 90 4o 64 49 4] 6L b2 62 4750 Y6 4k %
5 % %‘ % % % Kl ,C,,)—,;: I ,—li q 7A'7"§ 4N«47¥§7g‘ 3&«,@.‘,%41;4;41%1« ¢
SAND WHICH 1s THERE
6 10 2 4 o128 7 12 8 6 7[2‘1(7"{ M M
g w35

. FiNisH
2 SIX reAMs
s STARTED THE
T \fivie ROApWISE RELAY, ,

BY Faron
N et
B
¢ e — RACE THROVGH ALL _(WETRAC
K| i THE BATON CHANGES To 3\ 22
L4 FiND ovr WHICH TEAM
h WON .

i 8 5
G

H

T \4m

W

NiFTY NUMBERS MoNEY MiXTVRES
2+3=_5_ 10 + 10 =20c
5~-1-=_4_ 20. - 10 = 0c_
3 x 4 = IZ 2 x |5¢ =_3_0_Q
8 = 2=7A‘3' 5 x 20.=_%1_

4 +9-= Oc ‘=48—C—
qQ -5 = ;ocr22-2c=3_c
6 x 6 =_26_ $6 + 35 =3l

5 5+ 1=_5_ ;8-$7$=$01_
7 +8-1 10 x 8=

3 q :1 - $lg + 5=%

Viscovs VARIABLES EXTRA EXAMFPLES
a +a =2 loo + 123 = 223
b+b=2b 200 + 300 =
2¢+¢ =_23¢ joo - 85 =_15
2d+2d=4d4 200 — 160 =40
4e + 3e=_e 50 7 =350
fF-Ff=20 80 x 10 =800
2q - - 30 =+ =10
4a—$~|=8_3r 60—'30 =_0
3i- 2i=4 e+ =222
ititi =3 234 — 134 =_100_

THE QViNTUS Quiz

~ HoWMANY pAYS iN FEBRUARY 728 a5 678 610
— WHAT pAY is Marer 1z.4h ? TUESDAY| 2 2 1 s 8 0
~ WHAT DATEiSTHE SECOND THURSDAY Lol
OF MARCHT w R
= WHAT pATE i$ THE FOURTH MONpDAY “ 5678 5
oF FEEKUAKY? 11 12 13 14 15 16 17
= HoW MANY FRiPAYS iN MARCH T

NUMBER OF MiSTAKES

1819 20 21 22 23 24
q 25 26 27 280 29 30 31

177



LeTs G T
- Qg;ﬁ ‘5
—PAVE'S EXCELLENT PELMAL ADPITIoN & 2 023 0 72 03 0+9/ o-82
o-1 o-1 06 05 - x x 4 x—i x5 x 6
0-1 03 o2 o5 2. 04 2-88 1-89 455 492
0:2 04 0-8 1-0 35
o+ 16 076 0-99 049 "‘532
41 3-5 415 5.6l 4-68 x 7 X6 x 8 x4 >
_.;»-76 z-% 73?4 71'06 512 1-12 4-56 792 196 2:65
5 9 - 69 9-80 713 4,23' 7_.75 3-665 L-;:
3-2 53 11 ‘06 .25 x 3 X x 7 _x 6 X 1
sx 2s éz-f_ ?7 s e 3139 T 208 2944 2006
o 8 o . . » 0
: — —— WHAT DiD THE POG SAY WHEN T SAT
—PDAVE’S PiBTINGViSHED DECIMAL. SUBTRACTION ! ON THE SANPFAPER 2
e o7 0 - a8 . SHAVE IN ALL-
07 03 or 13 44 X[l feelee|v]e el 5| o5} S rsmees o
3 | 12| 3|06 |8 (27|21 |1-8|7 5| FIND oT /
°- 0 °- . ° ovy FiNp
—o':-; -o- |7; - o;f - T_ﬂ —; :? 2|8 02| 15|1e (Y3t(’) :757'41(55’\)'
045 062 032 1-16 1-27 4 04| 00| -ot| 361 32 e B -
653 74 65 62 1o 6 % Sad EKad Hss o
-3-53 -o°4 -o.9 -o-6 -27 ) . 0 45 |-025
300 70 56 T4 139 d & kd A K
6 % ‘36 43 18 ]-3
$0ME POiNTEP
opJeECTS/ A ,SE_EAE 2 2 "z /6 e |
ozto-1 E : ’::::é é TP%% i 7 7 e =
02-0-1 o4-oz
I 0:65+ 033 E Z :t: ZZ é _stzéé'sf _I'gé;
2450 (7] revem & NALL
By v P
—= TONNES OF TENS —
&-o04xlo= 804 a-765x1000=9165  74.1 1000791
o -B4xio=8-4 097~1000=970 7901 = 100 = 190l
8-t ~i00=891-4 B-04+10=0-804 480 1+1000=0980l
0894x100=89-4 804 ~10=804 9088 +iovo=9-088
o-8x100=380 084 +10=0-084 ©0-7=1000=0-0007 206 187 q9-58 872 1685
+7°18 +o0-59 +7:69 -3 14 -u-sé6
WHY WERE THE 6TVPENTANPTHE$\;/’(1;&_Z4 > 9-24 246 17127 558 527
iLi
LiNE UP EACH UM WITH iTS coRRECT 30LuTioN TO FiNp 35 53 4z 24 16
THE ANSWER S x 2 X _Z x 3 x 5 x 5
5exioo se 7-0 10-6 12-6 12-0 8-0
0-56x% o000 o0 0056 s
560+ 10 560 (Mis °;‘fg",:f.r)
5"’: 1000 3-12- 2:12 [-12 1-32 397 2-206
Sl leee oo 4846 )67z 8llose 10)397 12)z26472
56 000 < |0 00D 000032
563 100 00032
0:56% (000 00D 0050 z5-6 43-8 397 9% -25 7564
;{‘ij;;v 31200 -17:4 -27'9 -32'8 +58:89 +38-3¢
0003127 10 i,’:a 8-2 15-9 69 152:14 114:-00
3'12x (oo c0o0 0 5p
003125 (0O 0-03i2 NOW PO THESE SUMS To DistoVER A
5120 % 1000 000 32 _ FAMas pEGMALYEAR N N.ZL.”
j,;?:';a:; f’cl,zo(fzga 40-55 $138 [Elgz2-95 (x] 454
S i 5 3506 #r40  f0.65
1 z 3 |4 |7 |6 7 (8|19 |[o |n z |3 lr i e |17
B[ o r[Hf e[ A[s[Se o SPE[LITT [W[c]/ Eyors Dras [E£040 [{ $180
piv YoU7 x5 x4 7)4280  ¢)$lo-6o
NoW WRITE THESE NUMBERS USiNG WoRPS . #1160 £500
seo _FIVE HUNDRED AND SIXTY NINETEEN SIXIY SEVEN
2124 THREET 0UR 18141845 4 418 16146515 1642 418
87-9 _EIGHTY § POI ( WHY WAS iT 50 TMPORTANT 7)
70028 VEN THOU ND POIN In 9677 - New Zealond clnar\sed Eo decimal currency
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VSE

A cacinanr, <5l

3619°57 3594 ‘07 510-234 148 -675
+1248 68 + 1483 56 +667-98 1 +728-149
486825 5077-63 1178215 876824
145963 + 1254 + 7026 + 319 = 284562
4265 95134 73 589 6050
-2l -88 —240°25 14983 -] 1z3
20-77 711-09 58- 606 4-927
1959-¢3 - 81254 -70-26 - 3 .|1=—1073'64
3-04 4-321 4 -1 405-1
I5)3‘1-52. 10)36'4-29 0'5)1-4-@ 1'5)607'65
WHAT’S HAPPENED To PAVE Now ?
‘ “HELP ME
1125275 91l -0z 23 -075
L/ I'VE BEEN
=1-8260 1'4 2) -1’5 05
FRAMEDs
175 o2 -1'25 08 05 1'9

=HERE DWELLS PASTARDLY
PAVE PECIMAL,POBBED IN FOR

PAMAGING ¢LLASSIFIED PECIMALS,

)

NiFTY NUMBERS TRENPY TABLES
4+5=_9 2x1 =2
g._|= 5 2X1=A—

x4 = %é 2x3 =

3+1= zxi?,ﬂa
6+2=_8 2 x _[_
A0 o

X 3= 2x9 =_lo
8-4=_2 2xlo=_20
5+ 5= 2x13 =26
7+6= 2x12 =24
SOFT SUBSTITVTES EXTRA EXAMPLES

a=3,a+5=8 6 ADPEP TO 2715 _ 33

b=4, b+lz=4[9‘ 3 TiMES 18 15

e=8, ¢-1 =_[_ $4:50 + $6-25 = $10°7

d=7, d-3=_4_ $5-80 + $7-80= 213

e =5, 4+c=_?_ 4»67.=400+_6_O_+2-

F=2,9-¢=_I_ 500+20+6 =

9=6, 3g =_] 210 +123 = 333

h=49, 4h =_36_ 157+ 225 = 382

i=1, 10i = _10 240-130 = _[l0

J=lo, 5j =350 188 -66 = 122

THE QViNTVS Quiz
—FiND THE Co5T FoR,. ..
Z PARENTS oLy
| FARENT £ ) CHiLD

T EAL EE PER N M HB FPEM VE z_mgzm-sgz,m“_pgzu_fa
PRI R IR . | PARENT% 3 cHiLpREN $6
~Z 3 ° H 2 3 4PARENTS % 2.0HiLDREN $14
NUMBEROF MISTAKES _
12 w43

P23

z

$0-38 $0-94 $o0:75 3092 40 44
+0°]2 +0-46 +0-15 -0-07 - 0-29
$050 4$140 %090 #$085 #0115
$2-76 $1-74 $4-3¢ $70 $82¢6
+ 234 +t0-81 -2.41 - 5-35 -1-9@
$510 #$260 #$195 #£175 %620

==FiNp THE COSTOF ;

4 MATS AT $7-25 snum%o
6 HATS AT $15-40 EACH .
10 RATS AT $ 165 EACH J' :

3 BATS AT 44890 EACH 3

w=HOW MUCH CHANGE FROM ;

$10 WHEN YoU SPEND $6-80 ‘%
$10 WHEN You BuY 2 PENS AT $1 -357eaw-1 7-30

$ 20 WHEN YoU SPENP § 1130
$ 20 WHEN YoU BUY 5 pises AT $ 2

4 50 WHEN You BUY 3 BoOKS AT $1°40,%1:°60, 4180, 3 covERS
AT 70c EACH AND 4 FELT TiPS AT $3-20 EALH. .

2 coTS AT $82-95 EACH 16590

900 PoTs AT 30 EACH
éé_ﬁ 8 LoTs AT $ 5420 EAcH 33 O
05 POTS AT $ 4850 EActH 50

-75 eacr $.62

$28'7¢ 48574 4$¢q4-486 $75-34 {4370

+10°79 +23 46 -]6-88 -32-'99 —-29-90

$3955 $109-20 $47-60 $42-35 ¥13-80
ANSWER T0 THE NEAREST PILLAR

$3.20+4460~$8 735+ 4505 ~Fl2_

$2.85+%) 20~

$q-sa—$8'75~L' $e'z5—$s-qs==$_
$z4~55'$|z-50~&$|7~00-*7-20» 9

$290+ $2-80 =:E€2>_

FRACTION=-MAN

How much is shaded? Write the letter from each body
part above the corresponding fraction.

W
L % R n : W\\ ] \\\
SV S—— 2\
B S K A BK

O

amslo M=

olu |
owm o
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“PAMILIES or [RATITNE o

TO MAKE SoM
EQUIVALENT FRACTONS/
7 _ L -

_|=2 Lsé A .H’_ = .2,1]
T 6 4 1Z 10 zo 515 4 40 p
+ =
: AP Q+)
4 #-5 -8 53 #-1 )"
= + _jz =
i3 wE #D Af R w2 - Bl
_3_ oo _ e o 22;;»_:—3— ! it
e RHE FERE T E - 4
8 _4_ 1632 s -10_is-25 NoW ARE Yov READY FoR THE‘E»Z
1e 5 20 4 8 16 24 40 LeL =2 zrrL =3 2+3 =6
-NOW SiMPLIFY THESE FRACTIONS To MAKE THEMAS SMALL > 2 -Z z ® § 77 ]7
45 can 5745 #0403 2osc0
6-3 14-1 2.4 z_ 1 jz-_| 7 - 4 0- 5 -
le 5§ z£ ) 3% 7 24 g 4 4 7’33'_%’1_5 ﬁ' %=7T {;—IS Z
SHAPE iN EAcH ezt .1 -5 rz o=
BoX WHicH S5 8 £7¢7% 6D
F%NSA £‘L=’Zé’ &-_L=2’_ .é.'é=_?l
is Eatruvfn.zrrrw Z *: o 6 6 ?3 o -'o _IO
To THE FRACTi =z 1 .'ﬁé +T€3=1§ —"—'5 'jé =0
WHo %4 FART OF oVR TEAM T
IHE HALF BACKv/
z g4 L 4 5 6 3 %241
4+ 7 7 74 a5 7 % 3
F-2-+¢ T-1"% €-%2+%
K-i-3  E-45  L-i‘s
H=-3"% B-%+% A-2-32
46w w47

“COME FiNy MY PLAcg /™

START By WRITiNa THE Mis5iNG NVMBERS AND
FmoﬁoNs n\Il THE BOXg5 ON 1?15 LNE/
l__.7 4 l'—z_ d 2_2]_ L 32]_ L 4?—: ISZI‘ 5% 6‘_2L L

o 1 2 3 4 5 ¢ 7
HERE ARE sOME FPAIRS oF LETTERS AND NVMBERS .

WRITE EAcH LETTER ABoVE THE NVMEER LINE AT )
IT$ coRRECT PoSITION AND A SPEZIAL MESSAGE Wikl

APPEAR. 7
A% M-22 VU % ¢ 4%
S 2% E 75 L ¢% s I
M35 s 5% E 1% T 2%
0 i T 6 Y2 H-
Y35
- MY HOUSETISMY cASTLE _
4 3 2 -1 ©o 1 z 3 4 5 6 7 8

\
NiFTY NUMBERS FANTASTIC FRALTIONS
6+86=_14 %on=L
8 — 6= 2 Z OF 6 = %
5x3=_15 Jion=0+=“
6 +2=_23 ‘z:or7|.0=TlO_
7+ 4=_1_ T ox z=2
s-5=-_0 $ x £=£
5 |6xe=-236_ $rx-1
T g 8=_1 $+r =2
7+7=_14 1 -32=0_
e sre-I_ 5 -3-0
Mi4HTY METRics EXTRA EXAMPLES
€0m + 50m =10crv  7oays =_1_ weex

48em + 16em = bdecm SECoNpS IN 1 MINVTE

87m —47m = _4Qcm o6+05 = L'l
54mm —~26mm =28cr 1-8-09=_09
em = 'm 02 % q- = Qa
em=2m 0"}*2-_02_
IOOOmL=:[3:t 1,2 ,4,8 .16
3000ml = ( 238 + 832 = JQZO_
1234 ¢=1234 Kk 541 — 268 =
432 4= 4321kg 2* -
THE QUiNTVUS QuiZ
~FiND THE Lo5TOF. .. “scHooL SHop
6 PENGiLS 31 Inmes o
3 FerTips $6 FE?.:OK O
2 RULERS $1: = Tt $2
3 PENCILS % 2 BiRos _$1:50 {f Biros 2gogy
3 FELT TiPS, 2 BiRoS , 152 RILER
5% 2 RVLERS . 752 8
NUMBER OF MIiSTAKES

180




AN INTRopVCTIiON To PEGREES

= MEASVRE THE ANGLES
ONTHIS PAGE CAREPULLY L 35°
AND WRITE THE LETTERS
ABOVE THE ¢coRRECT
ANSWER [N THE MESSAGE

BELow/ M

, 90°
T 0°
% s 0°
TOWARDS
30 5 60 (o 120 150 30
a T
—B AI M I /320@ [
120 o q0 (o IZOO
E_B_; c Ms g
R 120 30 B0 9o 30 Bo
"L LB PHD,
35 35 120 95 léo (50 w
MD OR BE, £0°
40 150 5 220 |20 240
ALL THE ABOVE ARE UNIVERSITY DEGREES
p

i To
m%MKﬂWﬁWMVWUMW%'
luser i1 To MEAVRE 42
G i
U . e
IN THE LOPE T (o W e rers)

20° A: iN 45° L 90°
R 5°
P —————

60° g7 — T 750

G
M 180°
i S $ 260°
>@3500
v

E
no°
IHE

H 5p°

=CHo0SE THEANGLE 5izZE THAT i5 THE
BEST ESTIMATE of THE ANGLE AND
MATL] VP THE LETTER OF THE ANSLE WiTH
THE ANSWERS iN THE FVZZLE /

60 oR @( 0 %
T " A K
:s‘é 100 on
s

R
3lo ok)( 8o orR M

150r. 1€ o~ I
N 180 oR x 7;{

»
\Qa_
200 ok G ¥ or150
i Y P 3001 |%
L 160 nkyx; D ~—

250 R D6 o
H * oR 300

270 R 3§ E
C oR 360 Som

3

-

“MATHEMATIC!I ANS KNOW

200 O bo 27090 200 O o 2536025 o 180 g° loo 180 3c0 Io

ALL THE ANGLES,HOW

o 4545 66 270 qo0 o 180 150 45 90 82 270 3oo o

DO YOU MEASURFE UP?

20 300 160 300 IS 200 90 o go 15 3o q° 15 zs0

”

MEASURING ANGLES

ESTIMATE mMeans _A GUESS (BUT NOT A WILD GUESS!)
WE MEASURE ANALE SIZE WiTH A PROTRACTOR

L) estimate e sizE | (2 ASK. Your, TEACHER. FOR.
OF EALH ANGLE AND A PROTRACTOQRHEN MEASURE
WRITE YoUR 4VESSES EALH ANGLE caREFVLY [
iN THE TABLE. RELORP EAcH MEASYRE (N

THE TRBLE .

/Ca 120° \}D P
° 270°
60 b %\ e 900

ESTIMATE | MEASVRE
a 120° o
4 h
b &0° °
P 20° 9 /Eﬁ\
: %
‘ 707 ] ——_10° 8%y
9 41°
o ;
= 780 k70° 130°
| k| 70°
L &1 s 00° )
m o
- 8 / 180
° 80°
2 45° Y
: e —y s

165°
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PRAWINA ANGLES. .. 15 LiKE, EXCELLENT FUN / AKE WE THE ‘KléHT TYPES 2/

YoU HAVE LEARNT To vsE A PROTRACTOR To MEASURE ANGLES. PRAW 3 OBTUSE ANGLES

IT cAn ALSO BE vSEP To HELP yoU gRAW ANGLES.

@ PLACE YoUR PROTRACTOR
ON AB A% SHOWN
(¢ENTRE on B) PRAW Z STRAIGHT ANALES
@ L OUNT FROM O°cLockWISE
To 407, & MARK. T D — /
{B] Revtove youR PRTRALTOR. < 5t =
DRAW THE RAY BC . ]
THEN 2pBC=40". NoW MAKE :ambr coPigS. [ 752 s ACUTE_ | PRAW 3 REFLEX ANGHEZ
\ \ B /\A K\A
R P\ 40° Hese ae OBTUSE|  PRAW 2 ATE ANGLES
A B
AT D pmww.wal«fp( WAN ANGLE nf7 AT &4 AN ANGLEOF 90° /0\
g =
o o o — v
20 7 %0 THese 4/€ REELEX PRAW 3 Ri4HT AMWS
v H
AT T PRAW ANANGLE oF 45° \:Amwuz of 100° AT M AN ANGLE oF 50° j | \0/
45o 100° \C\ISO° e A<€ STRAIGHT NoW Fill-iN THE Mi$5iNG Worp
L W N | ey sramANG T ANLE priow s
mwmrmmus ) “siMpLY PER EECT”
AT T pRAW AN ANGLE OF 307, AT U PR4W AN ANGLE of 120,
;;Nymwrfng o J/’ZNVAVTK/:—WT,:N:;:;EADT,U\/‘, WHitH ARE ALVTE? wmmﬁﬂt REFEX T | WHIEH ARE aﬁﬁ;}z? WHZH g RaHT?|
v
I3
T y v v FE CT
54w w55
3 ANIMAL ANGLES
FiND THE UNKNOWN ANGLES To SoLVE THE RipoLesf
! 6 Do NoT. MEASWRE
. - How Do YoU MAKE A BEAR. RUN 7
NiFTY NVMBERS EASY EQUATIONS “s AY READY TEADY G O0r”
srl0 =_15_ l++8-_1232_ 5+_4 =9 105 3% 73 30 i) 3% 2043 2 Wl Z0 20 43 50 122
18-9 = 19-6 = _13 14 - =12 o ° o
|s-|z=i s +12= 21 ISx—i_-‘}F ) £50 SIOS ° e 20
s7riz=_49 4p+4 =12 _é_x ¢ =36 _\&_”" 75" 90 R i
zxu=_§§, 31—8:% I*Bﬂi
25+8=_35 54-6 = 2=16 '—T’ g °
ex40 = 240 22x2- 44 4+ 14_' =I6If2. 43° T A34
i5%7 =105 I5x3 = 45 gr_4 _=15-3 “r 92° e,
48+ 8= axq =_8 12-_2 =8+2
Is+5=_3 12x2=144 2x10=_4 <5 WHAT 4AME D0 HORSES PLAY ?
CALENPAR COLLECTiONS MoNEY MiXTURES “STABLE TENNIS/ o
How MANY PAYS iN MAY? 57 80 2 13| 0o 55 g0 55 115 i;i 90 57 ° 190
3l ’
How wawy Motpiys iN FEBRUARY? >><< >8<
WW[L|A|Y_|W|A|5 Blst JAN\IARV_? . ]OO

Og .
125

How MANY ScHooL PAYS IN TWNE?  —FiND THE CoST OF ; % T or0 °E

- 2o jﬁt T o S

WHAT PATE i5 THE LAST FRIPAY 3 ORANGES

in maye LI 2 BANANAS AND A FEAR, WHAT i5 4REY , WEIAHS A TONNE, % HAS TWo WHEELS P
How MANY PAYS iN OCTOBER & f],95 ‘A RHINO ON A BICYCLEy
NovemBer? 31t30=6l  ~WHAT i5 THE cHANGE FROM T BHois 0 T eI
How MANY PAYS To THE NEXT %10 iF T gvy: 42° NG
HowipAy 7 NOT MANY | HOPE! 10 APPLES $5 (Blzrzi -4z T 2.5 x

How MANY PAYS IN A YEAR? |2 ORANGES AND A PEAR. Erees-nrmenze-69°

365 or 366 (LEAP YEAR) L [ Feios 140 THEN L2 = ]1{439 3 Noe
CICIC] THE ANSWERS TO THESE 10 BANANAS ANp AN APFLE [ElIFe3-67"THENL 4+ 3
QUESTIONS ARE YEAR DEPENDANT g Elrrc7-98men c5- 98 't "\

, [ I 22152 TEN L9 - 28° @tFL3-s0%L8-00 ThEn £~ 60
NUMBER OF MiSTAKES E]IFLZ g’ v 1 - 16 [@IIFL8-E0'8 2950 THEN £37 50°

©IFLi-s7mnsd= 510 @IFL9100% L3740 hen 28 - 407
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= PAKA—KEAL? UN— ANGLES & LINES

I~ L

CORRESPONDING ANiGLES T NTERIR  ANgLES A LTERNATE  ANGLES

ARE EQUAL SuM To 18O ARE EAQVAL
WRITE iN AL THE ANGLE MEASURES /
1207760 75° 1\ 105 °
60°/ 00° 1057\ 75°
120" Keo® 75°\105° 5
3°97°g3°]97°
60° 7 120° 105° \75° 8 83 [91
FiNp THE UNKNOWN ANGLES
/
/wa' /k
i J=110° 152" .132°
78° . aB,
ne 18° I
0-85
FUN FAcT/

‘TWO LINE
0

8 10 65" B5 % 45 2

MEET MUST B
50 2620 80" 50 100 55" 80 95" 20

V- '250 : looﬁ&_"'35 §
S-55e ns i N=45

HAT NEVER

ROTATiION
WHAT TEMPERATVRE WOVLD YOUR, STOVE
BE SET To WiTH THESE ROTATioNS @
START AT ‘OFF’ Qag TIME

q0° LLoCKWISE

180° anTicoekwise, MEDIUM

270" cLocKWiSE __H'_QH—___

260" CLLOCKWISE OFF
How MANY PEGLREES TO SET YouR IRON
FROM:

STOVE

OFF To Wool- 180°

o 1o unen _60° CLOCKWISE

corron To st 120° CL OCKWISE
wool wvion To ungn 120° CLOCKWISE

NAME THE TOWNS.THE ARROW IN THE MiPDLE oF
PROTRACTARVA |15 WHERE Yov SHOULD START MEASURING

15° croexwise FRACALLY EAert TimMe/
180°cL0CKWiSE w ,...\/T:;‘AU‘W

270" cockwise. SYMMERSON et
30" ANTICLOKWISE GEOMARI]
160" CLOLKWISE _MATHMATOE

90" AnticLockwise SYMMERSON

RotATiIONAL-

==_
i RN
REFLECTETY o
SYMMETRY

BESIVE 54141 CiAGRAM WRITE THE ORPEK oF SYMMETRY,

K L
©+ *,

0=65° =80°
L85y 4
7 P H=120° W fo° P 160° ORDER OF SYMMETRY IS HOW MANY
B=95 M=50° A 70° E=20° TIMES THE SHAPE CAN ROTATE ONTO ITSELF
58w L 59

- YOVl NEEp A MiRROR. FoR THiS FAGE S

''''' %I \WHAT WOULD THE wmvow LooK. LiKE
WHAT W FROM THE OTHER. SIDET

COMPLETE THE SHAPES

% N
'm m m m

Now VSE A MiKRoR oNTHis SHAPE =k /| 2
To MAKE THE SHAPES PELOW I - @<

J " B

\V
[>j@ g

COMPLETE THE REFLECTiON !
- A WORM I5_A SHAVED CATERPIiLLAR _.

SYMMETRY

MARK IN THE LINES oF SYMMETRY/

/\\o

CALLULATE THE MissiNG ANGLES

"? N
x || Y :
I\ D b
% | ks i | V
! il i
x=_40° i
v=40° h=90°
2-90° i-_50°
jl: 2(}0

COMPLETE THE FitVRES AROUND
EACH LiNE oF SYMMETRY To ANSWER THE ¢opE /

‘EsKIMOs ARE 40Ds
P 8 4 5 6 | z 6 3
EROZEN EEW”

6 A z 7
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WK Greer7

NiFTY NUMEERS WoRpY WHIMsS
17¢19 = 20+5 < 25 SUBTRACT 9 FROM 12
3715 = 28 14x9 =126 SHARE $30 BEWEEN 6 _$5
20-19=_1__ 18ve = 24 WRITE TWo THOVSAND
47+q =56 27-15 = 12 24 SUBTRACT |5

90 ToTALOF 9, 4,406 2|
i 4 Fives 20

7+45 =02 330
2¢4x5 =120 3q9+3

8x|5 = 12+29 = 8 More Tan7 15
a2+6-_[ _ |6x2 = DiFFERENCE BETWEEN 4 %12 3
10x30 = 4632 = HALF oF 60
28-17=_1__ 250-50-200 AT Noon iT"5_12_o”etoek
PARTS - £iNp e scores RELATIVE RELATiONS
FOR EACH PERSON 7 7
NAME SCORES ToTAL IF // =20, FiNp 1115
HiNE 5,4,20 29 . VALUE$ oF..
MARY (4.4, 727 /
JAMES | pousiE 6,20,20| B9
MiKE TRiFLE 12,18, 4 | BR 5
ESTHER, |povsie 6 mine4.3| 727 -/// % 7
LYNDA  |povele 17,15 ,10 | 59 L”W/ﬂ= 4,/ 4 2
CRAIL | 8,11, 14 33 U |00
TALA |19, 0006163 ,6 | 3| 5 10 10

WHO $COREP THE HIAHEST e
LYNDA il

MA&I‘ 6118 WHWAW,‘UPW_IS_
715 |3 | Eacrcowmn aows vero _15
219 | 4| eacr viawonaL Avps vrTo 15 ﬁ

PAWKY PERCENTAGE PAGE

Z= 27 37-31y a43-43 7 59-59%
|oO |eo oo
94-947%  e5-65% o zc.36% 1s-157

|oo |oo (K-Ze} 100

2 -10-10% a -90 -9z =127
|o Ioo o oo 25 Iao
2-15.15% 4 -45.45y .6 .6
20 loo 20 Ioo 50 leo

4\71l

6001
SHAPE iN THE 4iVEN PERZENT
¢© mmn ¢ o .]
3357 707 40% 10%

PERZY Pig4 PERENTAGE PUZZLES/

How Do You KNow WHEN yau‘&zm’ PERCY 5?\{‘5
\

ITHE PLACE 1S A PIGSTY
945 38 18 65849436 5c70 B4 285617 70920 | VP
wnfg DEETHE rEKox FD&H(5 soReS 7 72
70 74 5538 7t %6 525055 }654‘7 \\\u

qu-117 12-9% ¢2-28% ¢ 2494% y2.207%
leo (oo 25 (oo (o

L7 ! =7 . 20 _BE. _ . 95
NUMBER OF MiSTAKES M 52007 &80 MuDD 1 12-65% Hg%ﬂ
N%=5_2z AJ%:%Z 551%4’187. L%:Sé’/a oé__gﬂ_"rz
62w o 63
P ()
) CNVERSIONS i = /
— - ALL PA TiME,
: s ,“'“" 3-30 %13 -137% =_L/ u =22 % g
% —> FRACTioN % —» PECIMAL 10 joo
ﬁ — v_=_5_%_ﬂ_=45‘/. 1 -4 7 ﬁ_ 26 7
20 zo 5

M%=_19 20%~= ZQ—_L 19% =019 60%=06
loo

=
63%= 3 40% = 745%“2' 28%=0-28 25%=025
joo
81%=_8L 50% =50~ | 56%=0-54 8%=008
100 loo 2-
99% =99 15%= l'i= 44%=0-94 5%=005
leo
7%=_1_ 85%= %Eoz—_ll 10%=0-1_ 150%=15_
1oo

T MPORTANT ELEPHANT INFORMATION/
To UNLOVER. SOME IMPORTANT FACTS ABOVT ELEPHANTS »
EACH LETTER BELOW NEEPD3 A coNVERSION

[B)-30% (€]-23% (K|-87% (M) =90% [R]=35% [W]-57% [Hl-16%
[Fl=41% (Z)-14% [Z] =500 [a]-28% [2)-338%[s)-31% [E)-50%
- 1Nz @ 697 D—tfo'/@ﬂzi’/DszoozD:“;z=74,-/,

WHAT po YoV GiVE To SicK. ELerANrs?
IKLLLLKQJJLJ_J‘ £R£

L2t At ET 0’ "*’m

How poYyoU MAKE AN ELEPHANT FLY 7
STARTWITH A TWO METRE Z1P
'BIZ.;_%L '575;2-_5 % 1-571;— ,5551;770-; ‘}4»5‘%1°
WHY DiD THE LAPY ELEMANT $ToP TAP PANCING?

SHE FELL INTO THE SINK

31%’5 ;10-5,1;-0%9 s é— 2 J;- z%-s 315 -‘5;’:;
WHAT D0 You 4ET iF You tRosS A KANGAROO & ELEPHANTY
BlG HOLES ACROSS AUSTRALL
35 Z AL %53 %‘25220—';—-31'% 22323 ;-‘.%;5

ko 3>

16 %-0-1b 35%=0-35 42%-0-42 Bl%-a 8L
6%=-0-06 5%=0-05 2%-0-02 1%-

PROFiT i5

CO0ST PRIiCE $4 $9 $15 $¢60 | $80
% PROFiT 50% 50% 100 % 25% 10%

REAL PROFIT | %2 $450 | #15 |#15 £8

#1350 | $30  [$75 [#88

SELL PRICE || %6

—."-> Co5TPER uNIT
A 35 6 cents
m'wﬁw‘" 4 2204
125% as7-4 400 00
FiNAL BilL =%

~pvzzLE | €oSTFRICE | 50. | 49 |100¢|200.
— M/ v ross |SO0d25[N|45% | 307

REAL Loss | 25. | 10 [45c9 60H
(slzz [z]4o7 [E]lzsz [B]44
15 [R]zsz 1oo% (T]10%

AWAYS GIVE 1007

%L I LIKE BART S

% 60c 2 50% 1 ‘361 23 -57
5 25
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j
)

NiFTY NUMBERS PANDY DELIMALS
g+3=_1 0.5 + 0.2 =07
8-3=_5 o4+ 04 =08
4x7=28 0:5—-o02 =03
12+ 4 =_3 0o 4-04=20
7 +9=_1l6_ l'3+o'6=_]_‘%
nm-5=_6 1'9 — 06 = |
6 x 6 =_236 4 x o1 =04
9 <1 =J7_ 5 x 0:3=_15
7-0=_1_ 06=02 1-2-04
t-4=-_0 3 3

RADICAL RoMANS EXTRA EXAMPLES

m=_2_ 32] + 200 = 52

v=-_4 400 + 400 = 300

vl =_6_ 300 - 165 = _135

IX=-_9 400 - |20 =

xv =_[5 60 x 5 = _300
V. = 5 38 x jo = 380

L X = 10 70+ 7 =_10_

9 XU - 13 1500 = 10 =_150

B XX = 23 444 + 555 = 999
XXV = 25 651 - 156 =495

THE QViNTVS QUiZ
T LeFT HoME AT _8 30aM OVToFBED 7-00 am.

I tooK _20_MiNvTES To
GET TO_S5cHooL . SCHooL WENT
FoRr, HouRS . SVPPER.
was AT 8450M_ TopAY . T WAS
OUT oF BEP FOR __l6 Hours.

LEFTHOME 8-30
g0 To scHool. 3 -09
ScHooL FiNisHED 4--00
ARRIVEY HOME 420
SUPPERTIME 8 '45
INToMYBED [I°00

QUOTE - A- BiLL QUANTITIES

A PiscounT i$_MONEY SUBTRACTED FROM THE PRICE

PPN SHoP PRicE = ¢ 42
=ioz4$42
=2 x_4_2—

L2

Do THE LALLULATIONS TO coMPLETE THIS TABLE /

HAT | Book. | TAPE
$12 | $40 (%10

HoLiPRY | 50eKS
$5‘00 ;5 7

KE
ORiGINAL PRICE : '%D
% PiscovnNT 207

257 | 102 |302 | 5% |402

AMONT oF pisconT |$50 |$3

$4 |#3 |40 [$2

SALE PRICE

$200 |$9

$36 |#7 [#760[#3 |

'4. 4.T. is A TAXADDED TO THE PRICE (NNZIT IS 12 )

PHONE RENTAL- =% 30
Toww AcouNT = %18
ToTAL- 48

rI125% 65T -5 6
FivAL BiLL -+ 54

GAS AccOUNT = %13
SERVI.E FEE = % 7
ToTAL- 20

+25%asT =+ 250
FiNAL BiLL = $ 22.50

COMPLETE THE TABLE To UNLOVER. 4 SAD QUOTE £

B0 |$32-| 72 |$40 (488

ACLooNT | |6 | 562 | %24
rizs5%6sT| 25| T A 3v

1oL gill| 18. F| 63.T

7 &

0 4 99}_5/»4#
90.v [#36E] 8Lo [#45 T N|

“OVER INELATION MAKES ONE GO BUSI /~

NUWEROFMI'STAKES 813327 3918107456381 57432 o193 16 996 245
bb e, 67
—MORE ON PERCENT -

LANA 40T 40 MARKS ovuT of 80.sHE seorgp 50 %,
GANA GOT 37 MARKS oUTOF 50. SHE scoRED 14 %,
SiTU GoT 19 MARKS ouT OF 25.5HE scoRep 16 %,
FiTu GoT 8 MARKS ouT of 10.5HE scorep 80 %

WHOSE RESULT WAS THE BEST 7 FITU

ANNA KEPT A RECORP oF HER EARNINGS AND
SAVINGS FOR THE 5 WEEKS SHE WORKEPD.

COMPLETE HER TABLE /
_ WEEK | |weeK Z |WEek 3 |wEEK 4 |WEEK S
EARNINGS EHES £ 90 $12z0 |% 80 4150
sAviNGS | 548 |445 | 36 |$32 [2¢o
L% saver 430 ] [ 5ol I1 55 ]T 40 40
Now LINE VP EACH UM WiTH iT$ coRRELT ANSWER To
LOMPLETE THE SENTENCE /
WHAT % 15 300F 60 &~~__ 25

WHAT 7 15 & oF 20
WHAT % 1% 5 oF 25
WHAT %15 10F 90
WHAT % 15 14 oF 280
WHAT % 15 Z oF 16
WHAT % 15 12 oF 46
WHAT 7 15 3 of |20
WHAT %0 15 2{ 0F 70
WHAT 7% 15 24 0F 40
FiINp 1070 0F 950
FINg 207 of 500
FINp 257 OF 300
FINP 40 7% oF 8D
FIND 507, of |64
FIND 60 ¥, oF 150
FIND 75 % oF (08
FIND (00% OF 35

THE SAW-DocTorR'S JoURNEY INTO AFRiZA WAS TO...

. THRIT TR ETBlA E {501 RIBLEIALIETE

lo
50 (AL P
72
35

WS

NiFTY NUMBERS MoNEY MIXTURES
3 +2=25 0. + 20. = _20c
lo-5=25_ 20c + 50. = _[Oc
4 x | = 55(—"‘59=_4_O_C.
q+3=}3— 20 - 20 = _0
6 +4=_10_ 4 x 20c¢ =
9 6 - 7=_1_ 5 x 50. =%
. 5x5==235 $3+$7=£I
0) 6 = 2= $7 - $3 =24
7—4=3 $7 x 8=3%5%
9 -3=_6 420+ 4=%5
Viscov$ VARIABLES EXTRA EXAMPLES
k + k =2 200 + 145 =345
1 "l=4L 300 + 400 = (00
SRR O
4p * 3p=lp 60 x2 =10
3q - = 70 x 3 =
5‘} - §,=%rg‘ 40 + 4 = 10
25 + 2s=45 59 10 =_5
t+trt =3 222 + 222 = 444
3u - 3u=0 435 - 135 = 300
THE QUiNTUS Quiz

= How MANY TAYS iN MAY ?

7z 3d N3
~WHAT pAY i§ APRIL 23rd ?%eg_qu ERasnD s
- WHAT PATE iSTHE FiRST WEPNESPAY

oF MAyz ISk

a0

s
7
8 910 11 12 13 14

= WHAT PATE 15 THE

iRP SUNDAY OF

MAY
M TWTFSS
123 a5
6 7 8 910 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26

ArRiLZ_2lS

~How MANY TUESDAYSIN APRIL?__5

27 28 29 30 AN

NUMBER OF MiSTAKES
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ENLARGEMENT T
TRANSLATE 4 uNiTSTo THE LEFT.
- ™ |
A W ly
‘ g \ NN TRANSLATE n
= I -
AN I Ty 2 UNITS
g2l M J ‘ DOWN . —
T ,
cdsda L
ETHE 4RiD TRANSLATE Z UNITS To THE RigHT .
ToAENLARaz =
STAN
'Eiywnz_/ 1
TRANSLATE 2 UNITS gr zr
2UNITS RigHT.
PROPERTIES Fi v AL T aArs/
7/L—~ \ '1!:%%3(,? TRANSLATION H?: :719?% ;;? MT’;'& £7 ’z:fé THE 4 Va%éynrs
Poinks
SMALLERY RefgeTioN |“orsfom e | NO. No. No.
buk opposite
) —) Poinks kburn on
= RaTATION  [°0de 2% o | NO. No. No.
o A given direckion.
X =@ \ ( - ] Poinks shift
A \‘ 6 F “(44 ) Tm%m Egc&rswe“ No : NO - Yes
A4 NEPL P
4 - = %;("‘ Poinks
hnd Rl 4 pusesenan oo | Yes | No.  |No.
the centre, O.
TOwq v 7]
72473
FATTERNS VSiNG TIRANSFORMERS ~fiLL iN EA 4Rip ! TiME TO TRANSFORM/
H TRANSLATE RoTATE 90° REFLELT [ZIORAW THE REFLECTIONS OF THESE SHAPES. m
T —— |
== 1.
=Pk -
I S
=N = INA
=k L {Z) ROTATE THE SHAPE [2) RoTATE THE SHAFE 16 o*
0 CLOLKWISE 90°ABOVT A. 0 .
Hreansiare ROTATE 90 REFLECT : B
2 4
P J Transiate RoTATE 40° REFLELT l
Vv A\ >4 3 I\ vV U 1T \Y
4 oloteo TOTO B IRmsrerm -
/] N <> r} 7 NI D {\ Va 4 VNITS TO
// /1 A f\\ /\\ /f\\/f Jr\ THE LEFT.
"SRR DT W\ ]
A R R RCAR AR
p B! T Pany o ENLAR4LE THE SHAPE 50 (8] ENLARGE THE SHAPE
ATYAY A LY AY N iT is 2 TiMES BIGGER . 50 iTI5 B TIMES BIi4GER .
[§ lrransiare ROTATE 40° REFLECT
< y > ] 4 y + o~ + b > b y >
> q ] > y p ||
L ] ] p 4 > y b > ] _—
b y y L ] p y p 4 y 0 nL t t
engbh G Lme: Laaer engbh s 3 kime:
¢le s ) K 3 Length is 2 kimes bigg b‘s.Sger bok shape 5’5
] d p p 9 times bigger
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“EIE N THE SKy/”

1z 3
5+3=_8 4x1=_4 20,4 A
jo-4=_6 4x2=_28 }
6x 8=_48 4 x3=_12_ ‘
4 = 4=_1 4+ x4 =6 ' 26 6
7+2=_9 4 x5 =20 270 “
8 —3=_5 4x 8 =32 \ 7 27
5x 5= 25 4'Xq=_3.¢ 26 /4
6~ 3=_2 4-x1102_=_AD_ g? @ o 17 2 8
9 —7=_2 4 =48 15
5-1-TA_  4x15-é0 M g
SOFT SVBSTITVTES EXTRA EXAMPLES 2% %10
k=7, k+3=_10 32 AopEp To 915 _41 23 /l‘ il
L =8, qu=£ ;s r;nss;-s; 2 TR A
m=4, m-2= 5-40 +$2-55 =395 * B Sovg z
n=9, n-5=_4_ 5865+ $970=%1835 ‘.“"‘Q’:""'... 1z
-2, 8+rp-_0  B29-B00+20+9 2 X ”0’0. N
r=3, 7-r=_4_ 700+40+3=143 20" ’ .’
s=5, 8s=_40_ 230+ 42= _2302 4“’ It
t=6, 3b=_18 175 + 251 = _426 19 5
u=1, 5u=_5 250-]40=_10 18 7 16
v=Ilo, bv=_60 177 -33 = 144

THE QUiNTVS QUiZ
=FiNp THE coST FoR <. -

Z PARENTS oNLY %4
3 PARENTS % | STUPENT 26

0N THE Bic NVMEERS
qw‘THE SAME LTTLE

NUMBERS TO MMP{.ETE
THE DESiG

| PARENT: | ViSiToR, ?, NI D
| PARENT % 5 STUDENTS ;
2 FARENTS X 2. VisiTorS 31 YU oty ~
NUMBER oF MiSTAKES
Thwy w15
764”277
UTA +,—, X oR = SiGN iN EA TO MAKE
4 THE éQL’J/\TG'ONS CORRECT / =
54 (3+45)=13 9-9-8—8 c+2X3=9
10 = (2x5) =| l6+8=6X3 I5x6 == 3230
364 (4x3)=48 8:8=7+9 6x¢ —322|
7—(12-¢)=3 3c=4=71Z 7+8 —7=lo
22X (8+2)=%8 3xi0=6X5 3x4 X 2724
— CRos5 NUMBER PVZILE —
7 >‘§\»\‘0 = ,ol:lé + 66 —loy: 72{ |8 |= 9 \47
hd ol = X - - x /i
1] sl [s]=]3] [Bll7l=19] el 131=]2
e apaln/Rpana/HZE
3+ al=2| |18|+{3|=]6] &) K48 —-131=145
N X = - +
gl+[8]=1¢] 7 |+ 2| =[#3[=]8]+][1]=]7
+ x = = =
41~ |7]|=P8[-[1]=]27]#[51=132| [#o|-PB5| =15
= = - - - /// +
2| Bel=]z]= B4 TR e[ = [8] = [ 12|t 7|= |19
+ N\ = il R
5 [24790] [9]=]0] +]so|+ [4 ] =|64] S| |24]
= - - - TART AT \ WiTHTHE LITTLE NUMBERS, ANP ToiN EALH
B7 6= 1N e[+ [27[- 25| [re]]8 =17 (=17 iJUPTBEKT;awiTS DOVBLE, 24 JOIN | WITH 2,2 witi4
e _ - N _ / N\ = 3WiTH 6 elc. NOW REPEAT WiTH THE Bia NUMBERS.
cHRIS |= 2| 1= (=0t = COLOUR. YOUR. DESIGN. IT i$ CALLED A CARDIOID I
RO 14| +[18|= |22 Q47|+ |7 |=|T| [8|+]|9]|=|17
)W% - N
%ﬁ 25| -] -[8 =[5 Vh[8 [x[=]=
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R NPUTATION CHALLENGE.

$ 250 70 WVEST, How Much po you WiN 7
AY

“They'Re ofr”

FINisH

EVERY HURDLE

MYST BE MAYTERED MY FiNAL
N ANSNER 192
ADp |00 OF THE
1600 < Yo TRY Thi5 compuration [ ANSNER | # 1000
| AWSWER L Zeace For e chmmod,_—_|
CoMPUTATOR CUP, SUBTRACT >
N A Jo°

oVIDE
ANSWER FRO
400 < Al You FINISH W The JANSKER
~———1 WRoNL ANSWER yov//\
- ARE PISQUALIFIED , MuLTieLy
SVBTRACT [SANP ALL youR MONEY | ANSWER
180 220 Goes To THe ¢Lvg | | II’SY 1800
FRO! '

ANSNER

W

NiFTY NUMBERS FANTASTiC FRALTIONS
9+5=_14 Tor 4t =_2
q9 -5 =#¥ £ oF 8 =_4
8xq=_12 Y orie=_8
o+2=_5 £ or30=_15_
7+ 6=_13 3+ x 3=_3
g-8=_0__ B 7= g4
7 % 6=_42 ¥y 3=_% 2
3+3=_] + + 3= £ g
jo—7=_3 + - 35=0
o-o=10_ F-%-0_
Mi4qHTY METRICS EXTRA EXAMPLES
40m + 80m =_120m _14 pays in 1 ForTNigHT
37em + |7em=_54 em 300 sec = MINVTES
52m —32m =_20m 09 +09=_|8
élmm—45mm=_lbmm 13 - 07= 06
100 et =1t 03x 9 =27
200 .1 = 31 09+ 3 =0
looomg = 9 la,a,_lL,z,u
2000mg = q 407 + 704 =
5618 m =5-678_km 862 — )45 = [/
8567 m =8567 km 3*=9

THE QViNTUS Quiz

~FiND THE 05T oF. . .

q pencits x| RULER $2°25 | {f BIRoS Zfor 1

9 PENCIiLS .
4 FELT TiPS

6 BiRoS _$3

4 FELT TIPS , é BiROS,
% 1 RULER 3117

NUMBER OF MiSTAKES

T 32

8w v 19
g0 4~ Sk gy

~ KNOW MY METRicS -

£ AN ANSWER
mzo:" THE Ba‘ﬂm of

I HE MEISVREHPNTS )

HoW
f@ AFnERT |
[

How FAR HAs THE BAFL
TRAVELED? |G,

.-, (%Y
\ AR.TO THE.
R iy PARKT 68

~

T ANSW,
Il

7609

50 Im 5L 200m

4s00m kg 2L 30em 16C 3oL SIJ
B0se. 1500W Baoo kT 28ml ¢Bkm
36005c  Lkm T2k

4ol g

1M1 2Zbae 75W 300 kP [Gm
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TN THE T. V.

24 HouR L0 | TIME T.v. oNE MY FAVOURITE PROGRAMME (5
1000 10-00  THE MuPPET SHowW
1025 1025 RoyAL HER|TAGE ANP (T 15 ON FOR min
iﬂ"f‘{% 140 | 140 4gi4 coonTRY | HOW Lo iS5 ;
M"‘f;',; 1200 12°00  ENgLIsH s0ueR warT 2isNgY_ 60 min
77 1300 | 1000 newskonew | 34 814 coonTRY —20 min
1320 1°20  EATING EARTH & sunpry HoRRoRS _90_min
1445 245 wWhToIsNEY WH cH PROGRAMME 15 THE
1545 345 sUNpRY GRANPSTAND | SHORTEST 7
1805 | 6:05 comRy coenmr | TwD PRO4RAMMES ARE oN
1830 630 NETWORK NEWS FoR 25 mindes. THEY ARE
1850 | 650 rrontLinE e Muppek Show
1930 | 730 meaver % Counkry Colendar
2030 B30 MasEReIELE THEATRE | HOW MANY TIMES s NEWS
ﬂ;] 550 930 NETWORK NEWS oN TV. pr?_.ELﬂ_&
2145 9-45  Kona HoW MUcH TIME ng 4IVEN
2150 950 c.V. To THE NEWS? Min
2230 10 30 SUNpry HORRORS
2400 (cr0sEpowN 4T
MIZNIGHT )

NOW FilL INTHE MissiNa TiMES iN THE CHART BELOW/

24 HWR TIMES |12 HUR TIMES | TiME iN WoRpS
0820 B.20am | Twenty rasT EGHT IV THE MORNING
1326 125 prov | TWewTy-five easT ong N THE aPERNooN
oo 100 o | ELEVEN O'CLOCK IN THE MORNING
1015 1015 am TEN FIFTEEN IN THE MORNING
1630 430 pm | FOUR THIRTY IN THE AFTERNOON
1805 | -ospm | FIVE PAST SIXIN THE EVENING
2220 [1020 prov | Twenty pAST TN AT NIGHT
1450 250 pry | TEN To THREE N THE APTERNOON




WHIZZ EASURiNG LENGTHS
! TovAY WE NEEP A RULER AND A PIECE OF STRiNa
. . LL THE 5TMBOL5 FiLL (N THE Mi55ING woRps
NiFTY NUMBERS TELLING TABLES mm represents poillinnek re AND NYNBERS /
16-5 =_Il 26x3-84 3x 2=_06 em represents Cenkimekre 10 - 1 centimete
13+15 -28 22%x5 =J]D_ 3 x 4= lZ m  represents _fﬂlggef_ 100 . -1 Metre
27-9=_8 19-18=_1_ 3x 7=_2 km represents kilomebre 1000 w - 1 kilometre
56+7 =65 66 - _I_ 3 x13=_29
3x35 =105 40x5=200 3xjo=_230 RY MEASVRiNG THESE OBTECTS 4ROUND You )
4x23 = 92 )20-90= 30 3x 6= |§ N
84-6=-_18 ss+62-133 3x9- e Ih PoOR
61—'—-3=_2_31‘_ 22.+88 =ﬁ 3 x J2=_236b6 R © PENciL k
36 1= Qo +5 = 3x 3= e i i PESK .
e 70 Bac Sraiac 12 i vl S L
E’(1'3RA EMMP LES Haw po T MEA;URE UP? Noke: example measures only
4 +t8 =15 - 2 = =
12X 2 =]8 + é i : 23 - :Lx q7 T MY FERSONAL MEASUREMENT LHART —
66 =6 =20-_9 36 - b =3 x10 zgffy—' My NEK is
100+5 = ¢ x5 5 5 5 =3 x) pAY Y HEnT i3 MY wasT s
36+2 =19 x_2__ 6 x_8 =48 MY sran 13 My AR is
3 x5 =30=+_2 2 x 50 = joo My cHEST is My FooT (%
5 x|5=75 42 + 47 = 89
3-5-B 3 -17-H §TKE‘EHMYIMAMM‘\TWA//
. LENGTH OF THE sctiool FENCE
Mom MA&.‘ LENGTH OF THE MAIN SCHOOL BUILDING
LENGTH OF THE PLAYING FIELD
219|4 6]z iz 15813 LENGTH OF 0UR 3cHcoL ROAD
7 5 3 6lie 4 0214 LENGTH oF NEW ZEALANP
6|18 31814 169 How voNG uNTiL T 40,1445,7.4;:’,,/&; e vivs iy
bt M 70 ANP oy,
TOTAL= IS ToTAL=30 TOTAL=3%6 __LB_S_—- }{0 3 \ 5 :_:/30
] H 75 I E
NUMBER OF MiSTAKES WHEN o EFEINL1TS H/»
83w, v 84

HoW 70 YOU MEASURE UP? .. .VERY WELL THNK You)

MEASURE THE LINE SE4MENTS iNmm. WRITE THE LETTER
ABOVE THE LoRRELT ANSWER. iIN THE PUZZLES To REVEAL-
THE AvTHORS of THE BATTY BooKs/ HAyg Fupy

e FY

40 ¢ 4 E F &

A LS AR L ML L |
em 3 2 3 4 5 6 7 6 4 o 1l

4= 1ot of A= _[Q mm E - LENGTH oF E‘ﬁ=_2imm
N = LengTH oF 2D~ 26 mm L - Lenett of BE = 69 mm
U - venar of 5748 mm R - Lena of ZF = 63 rm
A= LENGTH of ZE = 41 mam 0 - LenarH of B4 = 100 ppm
5 = LENGM of EF - 16 mm p - enatr of Ac = 110 wm
M= LeNaTH ofo—a-%&m D - LENGTH of BF = 85 mpm
¥ © LeNaTH oF PF =31 mm I- LenatH of 7a = 52 mm
F - LENGTH of AT = 59 mm

1I=3F pATTY Book THTLES [iE

APOLOLIZiNG MAE EASY

pyS AYER SQRRY
16 47 37 21 63 16 100 63 63 37

RiCE LROPS oF THE WORLp

110 47 85 B5 37 59 52 21 47185 16

ARiTHMeTIC
BrADAM (1 PPE
47 B5 47 78 48 110 110 2|

ONE , TWo , THREE, WALTL

py L. M. DAN-SING
52 78 8547 26 |6 52 26 p

MEET MR.PERRY MITA! [ —assimy®

THE DiSTANCE AROVND A SHAPE iS CALLED TS
MEASURE THE 51085 AND FIND THE PERIMETER Of EALH SHAFE .
A 4 H

B Z a F [ & J
AB = __31_ mm 7;=_26_mm HL = _ﬁ_mm
Be=_55 um EF '___39 mm I = —3—9—»""'
cA=_bb wm Fa= m JK=

m mm

teriverer= _ 160 wm  ap=_39 mm  KkH= 39 e
PERIMETER = 130 m PERIMETER = _156_mm

e ® Pq - ,3_5—mm

QK- _.IS—MM
[3 RS = mm

5T= _25_ mm
TV = mm

VP = __A'I_O— mm

v 7 rerimgTER = _ 300 mm
WHAT 70 WE GET WHEN WE MiX A PEPPER ANP A GRAVE P
LALLYLATE THESE PERIMETERS To FiND THE ANSWER /

A HOT CURRANT

36 30 26 24 22 28 >t % 36 32 zt
7% ’
! 7
N 1 Z
. 2 ;L R 2
! . s H
22

144

4 30
k4 A 3 4
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THE ForMULA FORTHE AREA OF A RECTANGLE 15 :
Leng‘tk multiplied bu} width

CALLILATE THE AREAS OF THE RELTANGLES BELOW TO
DELOPE THE ANSWER. To THE CHittiNgG QUESTION S

WHiCH FiRM SvPPLIED FREEZERS To THE J4il. ?

6em Sem

G-30+ | B-60 . c-36

Sm

15m

R-40 .-
12m TE -
<48 . |
RS LIMITED/S
40 48 96 84 16 8% 45 77 ¢4

A HiSToRicAL MYTH/

THE FO@U%A FOR THE AREA OF A TRIANGLE (5. .- "
e

CACILATE THE AREAS ok THESE TRIAMGLES AND FiNg

YoUR ANSWER. iN THE RECTANGLE BELOW. (THE £ORRECT

ANSWERS G0 AcRoss FRoM LEFT To RIGHT.)

CoLOUR, IN EACH CORRELT ANSWER.. THE 24 LETTERS

LEFT Tel- THE MYTH [

6L249 41;;6“3\ /Jé .

148 oNFZ}'q
yov oy i
YDV.
) 0 15
| -7
L 60 ol
L] 48 |
e
5 /6
150
| LD
)
|
L 125 =
30 1z ]2
1, 64 s
3z 1o
15
H A
£ y 714 ]
4 |5
s 19 5 il
L o v E | P T R
B8 15 1 4 13 Z z | 2 S
Z1718 414 15 %

”

Pythagoras loved triangles

EASY EXFPRESSIONS
4¢3 =_11_ 5x6 = 30 5c+ 4 = _9cC

\
NiFTY NUMBERS

20+90=_lI0_ a0x3=2/0 2a + 6a = 30,
35-7=28 15+1=_15 4k + 4k + 2k = 5K
87—22=% q00+30= 30 4m+ Zm=
105 -10= gx6 = 4p - 50 = 4p
3x26= 18 15%9 = 4% +2x —6x=_0
4+1 = _4  27x3= 34+ 4a =
258+3= 86 45+57 = be-2c = 4e
85+10=_95 27+27= qL - 31 = 6|
400+20=20 10¢+2 = 20f +5F = _25€
MORE MA4iL

=FILL N THE SQUARES 50 ALL ROWS COLUMNS ScDioNALS APD WP T THE TOTAL /
4|16 51217 1211414
91715 10|86 210]18
8| 3o 4141 16|16 |8

ToTAL-24 ToTAL=24 TOTAL=30

. PAY AT ™HE FAIR

” B S
%ﬁf;ofﬁ 70- 45 E,T;g’ WV&:”NUT

$
PERSON HAp BOV4HT SrENT  |HAP LEFT
ROPNEY $5 | 2HoT poss $3 $2
EF} $ 2 | I PRINK % IPOVGHNVT 70 14020
PIANNE | $3:50 | 2 toueypors % 1 cAKE | $1-45 [$2-05
MAXWELL | $ |0 ) PRiNK & | CAKE
CLAVPiA $20 2 oF eVERYTHING !/

NUMBER OF MiSTAKES

Fehs

RLS

i
™)
N
Uy
Ra
—
o1
@

<peep is A measwe of how

ast _an object is traveling
— THE FoRMULA WE

VSE To CALLULATE SFEED i5 .

SPEEP = _PISTANCE TRAVELLEP
T IME TAKEN

VEHICLE DiSTANCE TRWELLED | TiME TAKEN SPEEP

BMX CYelE 10 metres 10 seconds | mls
SKATE BOARD 2.0 mehres 10 seconds 2 mis
HONPA 500 80 metres 10 seconds 8 mis
TOYOTA CAR 110 metres 10 seconds |
BLUEBIRD BOAT | 2.00 metres 5 seconds 40 mis
767 JET 300 metres 5 seconds 60 ms
My FEET

TEACHERS LAR,

= MAKE SOME MEASUREMENTS YOURSELF

Z,

3.

— SOLVE THE RATio FROLEMS To TVENTiFY THE
STRONG MATHEMATICAN WHD SANED THE DRIDGE/

[(Ji:z=4:8 [0]3:1=1%5 M1:7-5:2
(v]4:1=1223 [A]1:8=2:16 [A) 10:140:6
[E]1:a=5:45 (1) e:1=24:4[5] 4:3-12:4
[E 1:5=2:10 E3_0:30=|oo:|aa
HORATIOUS OF ROME

16 15 10 60 4 24 15 3 IZ 15 30 1015 21 5
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WORpS (AN BE NUMBERS, THATS wmr I'VE HEARD,

—FilL iN THE
NVMBERS 4iVEN THE (LVES AcRoss /

ACROSS - WRiTE iN NUMBER

TS OWN -

NiNETY FOVR

THREE

Ei4HT HUNDREY AND FokTy SEVEN

TWo HUNPREP AND SixTy

TWENTY NiNE THovSAND ANP THiRTY 3EVEN
NiNE THOVSAND NINE HUNPREP AND NIiNETY NiNE

1Z THREE HVNDREP ANP FoRTY TWo

13

15
16
17
18
19

PowN -

IS SN My wn

FouR. HUNPREP AND SEVENTY THOVSAND , NiME HUNpRED AND
TWENTY ONE

#
WRITE USiNG WoRDS

Three hundred and two

5iX HUNPREP ANP FiFTEEN
FivE THVSAND ANP NiNE
TW0 HUNPRE? AND TWO
FiPTy EiaHr

NiNETY NiNE

®

Ciakt thousand nine hundred and 40\#&4

our _thousand and seventu nine

Seven _hundred _and thirty

Two _hundred _and thirty “one

Six_hundred and %ortul’ Live

Nine hundred and twelve

Nine _hundred and erak’c

Twey\’cu

NiFTY NUMBERS PANDY DELIMALS
, . ,
6 +18 = 34 g v 13 = 2T SomTEﬂIEWMBEK%rDEWESEWOKPS.g
19 -1 =_8 l'e +1:2=28 EianTysix_ Qb
12 %12 =J§_A.. 2°4-13=_101 THREE HUNDRED AND FiFTY TWO 352
18+ 6 = 26-26=0 SEVEN THOUSAND NiNE HUNDRED AND FoukTeeny [ 914
17 +17 =94 I -o05=205 he
A N one wiceion 1000000
nox o =_1I0 7 x 0°4=2"8 FOUR POINT FiVE 45
20+ 4 = % 6 x 08=4-8 Two Hunoreo anp seven _ 201
18 + 15 =_22 2.5 7o AS A DECIMAL i5 025 FiVE HUNDRED ANC NiNE
19+19-_38 0% AsapeciraLis LT six THousAND, Two nunprep 6200
RADiCAL ROMANS EXTRA EXAMPLES NIiNE THOUSAND AND $iXTY ONE g%%(é)]—
Vil =_8 624 + 300 = 924 Ei4HT THOUSAND AND FoRTY
xu =_12 500 + 500 = 1000 N THousane anp TeN — 10010
XXII‘: -4 ‘51_'00 - l:o =250 THREE MiLLioN Two HUNPREP anD TEN THousano 321000
VIl = 00 — )44 =
XXIL = 22 go x 5 = 400 A SVPER LHINESE MEAL
m VIE -7 76 x 10 - 760 “ONE TONNE OF WON TUNS PLEASEf
@ _Ll- Ilé' ?800; ‘ilo=J.0_ 3248 84 5 324648 84 32 349 44 3248 5 8246 46 30 (o84 75 46 B4
M xxl V - zlz 77—;: : :.:?,' : 279717 |A | TwenTY ™Wo ApoER To FiETY THREE 1D
E | six rives Fovreen _ 84
mE QUiNTvs QU'Z F THE VM OF SEVEN, EiaHT AND NIiNETEEN 34
T LEFT HOME AT 810 OVTOFBED &30 am. Z] THE PRopucT oF Five AvoTwerve _ 60
IT TooK MiNVTES To LEFTHOME 810 [N | 1HE PRODUCT OF Two, FouR Anp six — 48
GET TO 5CHOOL . SCHOOL WENT | GeTo setoor 9 -00 9 | THE 0i FFERENCE BETWEEN SEVENTY AND THIRTY EiGHT —32
F"KAéz HWKSA 5””55\5 ScHool- FiNizHey 330 P | onE HUNPRED AN FiFTY pivipep BY Five
was AT 930 _topay. T ARRIVED HOME. 400 P , m
OUT oF BEP FOR _I57 HovRS. | SupreTiME -3¢ ] e OF THIRTEEN 5 THIRTY AND THREE . 5
INTOMYBED 10°00 _u_ THE DiFFERENCE BETWEEN PiFTY ONE AND FORTYSIx
TWO MORE THAN FouR TiMES TWENTY
NUMBER OF MiSTAKES E ONE LESS THAN NIiNE TiMgs FiVE
Bw oy
954~ g6
1, 2 3 4 9
914 3 847 ARG 26
i g l 0] " T p'p M 6
216107 7219 (013777791919 9 WA PERFA 7 =
CROSS 204020 AT 0] 2L e sAY T ,
NVMBEK 6| 11575101 0[9 727710]21 75|38 T b
"919

BY cOMPLETING THE TABLES seww AND THEN

PoiNg THE SuMS, You’LL FiND ovT £

NUMBER 1256|819 |[12]13 /fl; 20|25
SQUARE 114 |25 |36 |64 |81 |144 [169 225[25@4001525
NUMBER 419 |16|49]100 | 121 |196 | 1000000
SQUARE ROOT 2131417100 1 14 | 1000

@ }’—f5= 14 @ |36r,0= 16

el 2 +4-_18B 6+ Jgr=_I5_
(o] 7*-29-20  [N] [#5-1= _1L
@ 124 — 10"= 24 @ 17 - {25= _12_
[ n*-95-2 Rl [Foo-J7- 1L
@ 2ra-2 & st

LIFE 1IN MY EFERIDGE 15
5 162624 (611 (0 19 261716 201324 162
REAL QQQ__L‘/”

7241415 18121215

9



Wﬁ%%@f — P ¥ Popy_
How MANY FLOORS pip THE LiFT TRAVEL AND
NiFTY NUMBEKS MoNEY MIXTURES WHicH WAY WAS iT 4oiNa?
||1—|+= 15 +15. = P .
M - 6. = FRoM THIS TeTHIS | How Many?
16 + 4 =_4_ 7 * 20 = EO o 1 1
13 + |6 =_21 50 + 20 = 1 5 4“2
8 —12=-_b 50¢ - 20c = 5 8 3D
I XI°=—113Q ;4*;6= & 4 4 down
15+5=-_3 1 - $5-=
19 + 18 -_3[ $20 x 3= : 30 Iﬂ%‘ﬁ\
17 + 15=_32 $80 - 4= o z up &
Viscous VARIABLES ~ EXTRA EXAMFPLES —Z b R
a + a =_2d_ 12% + |oo =_22_3_ A z Idow—
2b+ b =_3h 300 + 200 = 500 ¢ £ own
¢ + 2e=3c joo - 75 =_25_ 5 down )
3d + 3d=6d 200 - 50 =150 ) o
3¢ + 2¢= De_ 40 x 6 =240 HERE is MT. LooK$ PAiLY TEMPERATVRE (°¢) LOG
foE ﬁ‘; 70 % s SHEET . Fill INTHE GAFS !
-9 = - = N7,
5?: - 2h=3 go =+ 4=_20_ )" STARTOF | cHANGEIN | Mipmy
5i - 4i=_1 333 + 333 = 666 - (2 THEPAY | TBMPERATURE | RECORPINA
2j+2jr2)= b 625 — 125 =500 7 = s 0
- : 3° FALL 5° -2°
THE QViNTVS Quiz - 5° RISE 2° 7°
—HowMANY pays iN Juy 3l MRS T L7 —%°
—WHAT PAY i$ JUNE 3rd n paERNEE 2’ Rise 8" Io*
~WHAT PATE iSTHE FoURTH TUESpAY 222227 4° tall 4 ° o°
of yury __ 23 WY 6° fall 7 ° -1°
~WHAT pATE Semﬁ SELOND FRipAY OF |é ‘é :§ :g :g ﬁ ;5 3 Pise 8 5
Ju 22 23 24 25 26 27 28 -10° RisE10° °
= How MANY MONDAYS iN JULY 5 i _L?o ﬁm,’;» -07
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4 (4-5)(3,6)2,2) (21 2)(%,2) z; x g =% i; i: =
[4 L 27 =+ = =
- — LAE, 28 2-4) 3503 - {50
B VN EG E- 33— 26- [ $ 30
K A Viscous VARIABLES  EXTRA EXAMPLES
WAVE FUN/ I AR LA N ¢+ k= 2k 145 + 200= 345
(-65-2)(4,75)(4,5)(3;2)(4 ,°5)(2,5) ZL -1 =1 400 + 300=
C .A)_N_ B A __L.) W ﬂ)Q 0 Nmz 4}(:/4) m + 3m=_4m 200 - 130=
(1 576) 4, 5)(2,5)(372) (-3 16)( 4, 5)(-2,~4) (6,2)4,2)(2,2) (2:2)(2, 2n + 4n=_bn 100 — 48 =
T E SWEDELSY Sp + 3p=8p q0 x 5 = 450
(4, 5)C6 20Uy -3)  (-5,76)(6,-2)( 1573014301 ,73)("5, 7€) —q = 0 80 x ¢ =_430
%r + 2Zr=5r 20 = lo =
Now PLOT THESE PoinTs 35 — Ze=s %0 12 =
AND JOIN THEM A5 You 40! 4 + 4t=9t 444 + 444- 888
COLOUR. YOUR RESULT . 4 5t - 4t=t 84) —24|=
3 o
(271)(3,0)(3,'2)(7—,"”(!,"’) ’, N mE aUlNTUS QU'Z " TAVV‘TUSFTS .
(07-3)(-"-4.)(-2’-4)(-},-3)(—},'/) "j(,!/ = How MANY PAYS iN/\UﬂIUST? 3] 5 6 7 a‘; 513 \:
(=15 1)4-2,2) C4,1)(=5,3)(-3,5) = 5 I - WHAT pAY i§ SEPTEMBER. 15ty SUN| 1 8332 5 X0 0
(0,4)(1,3)(5,5)(5,3)(5,1) - —WHAT PATE i$ THE THIR P SUNPAY oF =
(4,0002,2)00.2)(2,3)(3,3) A V=N AUGUST? ]'&L , SEPTEMBER 2
K —WHAT PATE 5 THE FiRST MONPAY of % 345670
] serremeeR”_2nd | ahBigns (2]
—HoW MANY WEPNESpAYS iNAVGUSTE? 4
-5
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—Meer 5AKLA OUR CRAZY LALLILATOR { ‘
CARIAiS 50 AEVER / \2 >4,
ﬂfﬁYﬂ!;? Ym;aivz HEK [ ’ 12 S =
NUM K, NaTHEK IN| => - -
ONE PoPS purt Y =4 EX 2 [m8) =42
. o o o [~ FA
TRY ANY GVESS WHAT L2 ; -
CARLA 15 POiNG AND 15 3 § PR
FilL IN THE 4APS p ]E p g 2 471_
s 5
wes) 2 3 4 5 6 7 61 0 L M e 1B P « 720
A A A AR AR o1 N oy
341!1112‘5_14_1516_;130 33 | 1 a 113 7 29
~THERWE i5 _ADD 6 LARLA'S RVLE GARLA"S RULE CARIA'S RULE
MULTIPLY BY ~ADD FQUR -
TRY AN WORK oVT WHAT 5HE?S VF Too [ Now vsiNu THE , ]
;
URAPHTRYAND N, ;
Yo + 2 3 4 b 20 320 10 PLOT AS MANY ; 7
v v v v v v v v POINTS A% YoV CAN Vil
o 5 101520 50 100 so so0 FROM EAA cakTs 7 ; —
- B " "l
D THE KULE (5 __MUL_B——-IPL\/ B FROM EAM MAN' 0 ','
W o 1 2z 3 4 8 o zo 2001000 A PIFFERENT 9 ;
¥ 4'/ v LI v v v v v (;::zv:éfr FEW HAVE e ,"'
& o =z 1 1z 2 _4_ 5 10 100 50D BEEN DONE FoR you.) 7 I
THE RULE i5 VE THE NUMBER - T
iil;‘fi_é_laroomoo 4/,"
v v oV v A sHH
PRI AR RN
THE RULE is _TIMES TWO PLUS ONE dn
4 2 4 & z 9
28w v 129
314”35
= GRAPHS gpapys 4APHS]
Topy’$ HEVGHT FROM AGES 12-18
3 "‘ £ Sz s 15 uears
NiFTY NUMBERS TRENPY TABI-ES g 2| 3N wHicH Two YEARLY ERioD DIV
20 +13< 34 6x 2 = g o HER, HEIGHT INCREASE MOSTT
20— 13=_8_ 8x3=_24_ e
Zox 5=100  8x4=_3 o LT [ 0eae’s? 54em
7-3: + ji & x 57= _40 AGE iN YEARS 5 iT LIKELY THAT SHE NO
iy S o e s, Docm
24 % 3 T 8 _9— -2 HE-aHrArAaEzo___Qm_
2Ty Srerd PAALNE A e T e o
3¢ — 77:'5;_‘2_ 5 x D Tieo FOR PUFARVRV. e
saFr $VB$T|'TVTE$ EXTRA EXAMPLES v
k = k+5=18 35appEr 04715 __8) %80
L= |8 , L r12=_30_ 25 TiMES 2015 é
m=19, m-lo=_9__ $15-26 + $11-35 = §4°
n=17,n-3=_14_ $18-75+&16°50= ”
p=1,4+p=_I5 q19 =900+ 10_+_9 R
rj le , zo—r_‘= 4 700+30+8 = [3_8 0 CAM BAM  DAM  TPM 2PM 4PM M TiME
i :;' ’ ':: - —IZO—EO fﬁf:::’fzi —%&%‘5’37 = AT WHAT TIME WAS THE HIGHEST TEMPERATVRE REcoroep? 12 noon
u=10. qu=_90 540 - 380 = = AT WHAT TiMES OF THE PAY WAS THE TEMPSTATIRE 6 r.&mz_Z_deme,_ﬂam_
v=20, llv=_220 363 —526 = %%97 = IN WHAT 2 HOURLY PERiop v:vaanm;wEm’ BtwbBam, 80am
. o~ WHAT WAS THE TEMPERATVRE AT 1t.amZ_ADDrox
THE QViNTVS Quiz . . o )
~FiND THE cosT FOKQ... BB MAX-MUMANP MiNiMUM mnmm Rsmf'v-‘rm
3 ApULTS ONLY ApuLts $3 ‘& LEPY mle vzmur/_\:is,? TEMPER TUQE
i::z:;ii !5 ‘:-lii’;-’;ﬁﬁq | cHiLFREN $2, 55 e v sy DAYS OF THE WEEK
| APULT % 2 CHiLoREN é . B e e mnaasz |RD=5
4 ADVLTS % 5 LHILDREN o R N TR 5 (2 sy ervrenmorez SUNDAY
PAYS of THE o o
ey e (5] romversees o sz MIN = 5 MAX = 20
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THEFVFiLS of T-N. STEIN
COLLE4E EACH VREWA
SQUARE ABOVE THEIR,
FAWURTE T.V. PROGRAMME,
To MAKE THi$ 4RAPH T

1 1

Mo o [wremau] wews [cneros [ sreecs |

= WHitH PRaGRAMME i$ MoST POPULAR.7 MUSIC VIDEQS
—WHILH PROGRAMMES HAVE EQUAL rorvmniw.?ZS NEWS & SPORT
~How MANY PUPILS IN THE cLASS T

- WHAT To7E oF cARH i Tis caugp? _ BAR GRAPH

ASGARPENER HAS 40 HECIARES OF LANP
PLANTED WiTH VEGETABLES. A PIE LHART A
SHOWS Hi$ CRoFS.
-Waris 5oF 4075
- How MANY HECTARES oF BEANS i$ HE 4RWiNGT__D
- How MANY HECTARES oF TOMATES i4 HE arowiNG 710
~How MANY HECTARES oF CoRN i HE 4ROWiNGT__ 15
- How MANY HELTRES OF GARROTS is HE arowiNG? __ 0

TIETDFF FANILY ——
iNeoME i5 SPENT AS
FoLLOWS : 207 Foop %

30% RENT

l‘;"’/a GLOTHES
prame G
157 oTHER

VSE THESE FIWURES wmmem@

WHEZZ K eeTs

NiFTY NUMBERS l"'ANﬂSTlC- FRALTIONS
26 + 28= % 3 o =3L
25- 17 = Lo 9 =
;_+x|o=2_43._Q % oF ZI=_7—_]
27 + 9=_2_ F oF 4=
23 + 24=_4/ F oF 12 -, 3
23 29 - 22=_1 T ox $-123
5] 21 x 12=252 5 r 5-%
@ 22+ (1 =_2_ ¥ ox - F
28 — 13=_15 $ + 3-Z
we( 58— 29-9_ - i3
MigHTY METRI¢S EXTRA EXAMPLES
304 + 903 = 120q 365 pays IN 1 vear
649 t+ 464 s_@, 24 HOuRS = L pay
221 - 121=10F 17 +1-8 =35
58l -291=_29 24 -16= 08
_1200 m= 1-2km 05 x 3 =15
1567 m=1-567km 15 = 5 =03
4000 mg = 9 48 , 2-1'»_IL5 é
4200 mg = y 9 1234 + 432 =
200 ¢m = m 777 — 555 =
234 em= m 10% =
THE QUiNTVS Quiz
=FiND THE ¢o5ToF. . “scHooL SHep
12 FELT Tips 324 |\ o
30 PENCILS I B for S0
20 RULERS 32

10 BiROS .
BiRo,
IS FELT TipSx (0 BiroS $35 {fsi #2frf1

36w, w137
1334~ & 129

=COMMAN TABLES &
- COMPLETE THIS TIMESTABLE / ;;%

o1 |12 13 |4 |15 |20 |50 |j0o0
0|0 | 1213 |14|15]|20]| 50(100
20 |22 |24 |26 |28 | 30 |40 |100 |200
30|33 | 36 |29 |42 |45 | 60 |150 (300
40 |44 |48 |52 |56 | 60 | 80 |200 (400
50 (55 |60 |65 |70 | 75 |100 {250 500
60 |66 | 72|78 | 84 | 90 |120 | 300|600
70 |77 | 84 | 91 | 98 |105 | 140 |350(700
80|88 | 96 | 104 | 12 | 120 | 160 |400 | 800
TABLE$ zoME iN ALL 50RTS OF FORMS!

KNoW “YOUR. 5¢HooL TiMETABLE?
FiLL iT lN EELow !

PAY ) |VAYZ |pAY 3 |(PAY 4 |PAY5 |paY 6

Y RIS STIIESES

AV T I G R VU I R N

6

AN YOU THINK, OF ANY OTHER, TABLES YOV COME ACRoSS EVERIAY?
BUS OR TRAIN _[2]TV PROGRAMME[3] SHOP HOURS

ITH"' ,«%
v VIVMNﬁ f=——

- W s pﬁ%wmm—- 519)'/

e | P W we ©F W
TIMETABLE | 4oy 6m—9m 43 $7-00 $4-00 $100
Al e MR e
RINK. |58, 75mmim f52 $5700 4300 4100
W Fiomring, T -12vens U TEE $3:00 $100
Ao 301515 A0 $7-00 3400 %100

o= WHicH PAYS HAVE SKATiNa UNTIL 9pM T
MONDAY - FRIDAY
= WHEN i5 5KATiNG For UNVER. 155" ONLY ¥
FRIDAY AFTERNOON & SATURDAY MORNING
= WHitH sEssioN is THE LoNgesT 7 _ SATURDAY AFTERNOON
How LoNG 7 3HR 45MIN
= Pi WENT 0N FRipAY AFTERNooN AT 4-45pm. SHE Could
SKATE FoR. LD MiNVTES.
= Pi WENT WiTH 3 FRIENPS ALL MEp 13 . THEY ALL HiREP
SKATES.How MUCH pip iT cosT iNToTAL7 3 16
= MRS MATAi ANp HER Z CHILDREN WENT To THE
SATURRAY AFTERNooN SESSioN - THEY oWN THEIR. SKATES.
How MueH pip iT test7$ 15
= WHIGH SE55i0N GivES THE BEST VALUE FoR. MONEY 7
ADULTS SAT AFTERNOON, JUNIORS SAT MORNING
VMNEWSDE LL STICR Wit giisiaN.

IF LEAVES HER WiTH WARpM FVZ2iES ,
NoT' BRVISEY BVMFIES /7
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,gﬂm&ﬂgﬁf

1‘H|$ TABLE SHOWS “/W 'n-lE PisTANCES iN
Kv-ommss BEIWEEN S0ME SovTH LSLAND TowNS /

[N
3
% y €
é HEK 38 2 g i g
w
HHHHHHBEERE
5 2 A g § 8|3
ALEXANPRA 822 | 316 | 90| 905 | 274 | 418 | 274 | 660 | 108 | 472 | 700
BLENHEIM 266 | 486 | 822 | 117 | 655 [1092 [ 921 | 331 | 690 | 322
CHRISTEHVRAH | 339 | 164 [ 498 | 440 | 333 | 770 | 587 | 255 | 366

PUWEPRIN 705 | 202 | 294 | 808 | 339 | 403 | 222 | 559

4GREYMOVTH 104 | 385 | 60s | 295 | s03 911 | 780
TNVERAARGILL | 936 | 424 | 194 [1029 | a75 | 266

MiLForRg SNp  [1016 | 604 | 273 1211 | 594
MoUNT Look, 599 | 212 | 286 | 788 gﬂw

NELSoN 21 | 603 | 038 %ﬂﬂ"’ 3
QUEENSTOWN [ 710 (342
v TIMARY s02 oz seapmttenns —
‘ ‘WESTPORT
=HoW FAR is iT ﬂ(tM cer

mm-nwaw\wb 2 M rimaRY To WESTRORT %Z_M\_

MT. 00K, To ALEXANPRA ___m__mw To NELSoN

NELSN To 4REyMoVTH 4REYMOVTH To BLENHEIM _331 km_

== EPi ANP POLLY 40 ON A BY$ TOUR FROM CHRisTeHVRLH TO
AREYMOUTH 5 ON TO ALEXANPRA ANP TiMARY, THEN BACK To
CHRISTLHURCH. How FAR, Pip THEY TRAVEL
__255+660+3l6+164 = 1295 b m

=I5 iT QUiLKER TO TRAVEL- FRoM NELSON TU DUNEDIN ViA
CHRISTCHURCH q< areymourn? 806 V 85!2 Go_via_Christchuch
=THE FiNAL- TORNEYS /
vesmro 15 104 ke Frant __OREYMOUTH
AExARAlS H8 kmFroM __ MILFORD SOUND
eHpisreroRen i 339 km From _WESTPORT

ne1g =30 15-8 =-_[_ 4 x 4= _36
20-15=_hH  30+2 =42 qax 7 =_63

axz2l = b3 2p:a=_1[ qx1-_99
5er12= 68 (5+14 = 34 99 =_48
74-3¢- 38 70:5 - _14 q 5 =_45
44-27=_11_ 2x25-50 9 x8=_12
2x140= 280 jo020=_5_ q x 2= _108
150+5= 30 100-80=20 9x6=_54
¢3:3=_2  ¢ov34= ax3=_20
loq+rs=14  y50x2= g xi3=_1I17

SiLLY SEQUENCES

ZOMPLETE THE SEQUENCES ANV WORK oVT THE TOTALS OF EACH Row % coLuMN /

1 [3]s]7]a[n|mis)i7)ia|zi] @
147 0] ]16]19 [22 p5 b8 |31 | 176
L[5 ]a a7 [2apspy B3l (4] 23 | qorac
1 6 e 226 a1 o Jar e |51 | 286 | F
EIRRIEEEZEE E
1 [ 8 15 ]22]29] 244350 [57 Jea [71 | 3%
6 |33 |60 |87 | 114 [141 168 |195 222[249[276

TOTAL OF EAGH coLUMN
~WHAT is THE PATYERN iNTHE vt corvmnz ADD TEN. ALL END INT
~WHAT i$ THE PATTERN iN EAcH Row ToTAL7_ADD 55
-WHATi5 THE PATTERN iN EAH corumn ToTALZ ADD 77

RELATIVE RELATIONS Yy
7
10 30

IF =20, FiND
THE VALWE
OF EAcH oF

Wl w43
1444” Sk 45

§§%b£FMHKﬂK$M?%ﬁﬁ§I»

= ARITHMETiC
—VSE YoUR NUMBER $Kills To FiLL iN
EACH GAP To COMPLETE THE EQUATiONS BELoW/

(2+6=15+3 (3+8)-4-_[ 13+8-8 +i3

123 273 463 413
243 3732 617 640 9o
115 400 189 4106 286
48 338 109 1709 1608
342 2z 1q 313 511
153 567 400 697 |13
265 658 589 507 349
104 8176 7171 811 17
364 2333 1387 2413 100
222 4z0 243 463 342
“115 - 240 -144 —2¢5 -258
207 180 99 198 34
524 637 505 705 43
“236 “548 -377 - 248 - 67
288 89 128 457 176
Z3 24 55 44 z.L 45
x 3 x 5 x 2 X 1 x5
& 20 10 176 132 25
79 13 155 67 )_ZIQ
L)IFSO 3535+ 5/335 & 44965
99 91)2 469 12757
lo/9900 q)8181 5)8505 7)32_53 6/)76592
X |oz |09
—PO'PA‘M7 + |29 |72 |l05 6 12 |52 72
pecitaL | 03|32 |75 (108
saués? [ 5557 e T3 1|1 002100902
1614588 |21 e | 01 045] 06

“SoMETIMES ACLURALY i6 BETTER THAN SPEEP! 7”
DiP YOV 4ET THE ¢oVRSE RECORD ¥

16 +5 = 14+_L_ (7+1)+i=20 3¢ —_O_= 20+ 16
s+0-a+¢ @-3+9-15 9+4-=10+8
4+20=15r6 (zr3)-8-_L 6+45- 40+
6+9=9+8 (2z2-8)+3-_ 16+0-10+¢
Now WRITE X ok iNEACH O To mgfﬁzrgfimsl
6 X 3-18 24 Xz =48 86X q-12
4 %X 9 -3¢ 70 == 7 =10 b=t = |
18==¢ =3 60 K 10=600 Zo==q -4
20 X 5 =100 50 == 5 = 48X 2 - 96
PLETE THESE
= &0 WMBER SENTENCES
|0D'lo=‘]‘i_ (+xb)f_6_=3¢’
|e++=|o+ﬂ sx2 x5 =30 (3x7)- 8 =
Z2xq =22+ uz.—:e)ez=_l_<:,xe)+l=?
26-8-10 «8 1z +(e+z2)-4_ (1;a>+‘i7=_]

19+7 =30-_4
48 +6 =_3 +3
42 +L-q-3

8 x(z+7)=-1L
(8 x 2) +7 = &2

20 -_4_=e-z

(7x8) -1 -4q
(6 x5)+8-38
(5 xq)-5 -40

«« « AND FiNALLY

X |5 (10|15

20

7 3570|105

140

12| 601120 |180

240

20 100/200(300

400

+ |13 |46 |78

19

25(38 | 71 |103

144

52| 6598 |130

87 | 100132 |165

206 FeSTVELY )

200




THE MAGICAL MiNp REAPER

COPY THE FOLLOWING ONTo 6 CARDS . SHow THEM
TO A FRIEND. ASK THEM Te SELEZT oNE
MUMBER FROM ANY cARD. NOW 4ET THEM
To TELL Yov wHicH c4RpS THEiR NUMBER
APPEARS oN. App ToceiHeRTHE NUMBER ON
THE ToP LEFT HAND 20RNER OF THOSE cARDS.

Wﬁ%@%@

NiFTY NUMEERS EASY EQUATIONS
5027 =32 157 - 20 _A_ 5
20-12=_8  40:8= _5_ 244 =¢

THE ToTaL WiLL BE YOUR FRIENDS NUNBER / 68+9 = 11 g +9- 2/ L f’ 5 x_3
92-11 -_8J_ 49+7=_1__
] 7x45 =35 36:6=_6 zo++=6 4_
55 79 0 s (23 ¢ 7 wums v ey i R e
7 19 2| 23 2§ 27 29 3 I8 19 22 23 126 2] 30 3 300+60= 2  q0+2= 45 |8 -3 =5 x _9
35 35 37 37 1‘3 45 47 3% 36 35 37 92 9 % 47 200+200=1 100+4=_25_ T ¢ 20=10
47 51 53 553751 6l 63 50 5/ 5¢ 55 55 57 61 43 3x24 = _[2 3x36-_108 2 - 4r4 - 12
caRe A cARD B toe-12 =16 105<5- 525 _ZOoFE 40 = 20
_ Viscovs VARIAELES MoNEY MIXTURES
5 6 7 1z a3 r 45 8) 7 so 1/ iz i3 14 U5 atararara=_2a COST OF 4 ICECREAMS AT 70c
20 31 22 2% 28 29 30 3/ 9;{ 24 27 27 29 30 3 4 42*”77-5"43" —%—b} ?“H:S
36 37 3% 31 49 45 6 4 20| 41 |92 3 ¢ #5 # 17 x taxteyt Z0oF $250
52 53 59 55 40 41 42 63 ,—4;8 57 6o ¢/ ¢z 63 (2b+3b) 4— 20h srzuvas-w,armaﬁfmﬁs
CARD C CARD P 45 + $13
6= . Z _IZ_L £ kg oF RiCEAT d0. kg 45C
4a+2a+3b=062*3b  3$s00+430$830 "~
¢ 17 I8 11 20 2/ 22 13 F 33 3% 35 3B 37 38 37 Sk -5k =_0 Z 2AUSALE ROLLS AT 45 ExH
24 25 20 27 2T 29 3o 3 4z B 41 %5 1% 97 8¢ +2c+50.=60c 90c___ enanee FROM$1 FoR
45 49 50 5/ 52 53 5% 55 45 5o £ 52 53 5% s§ 9a, 2 =184 2 savsAERopes 10c
T £9 6o 61 62 g3
5¢ 57 56 57 :;KV’EI ¢3 ¢ 67 579 ks _ 3 i CR0OsS NUMBER
8127110[5] vowN ACROSS
s] 5 5 y;)m_z_e 105%13 ,iaFlH- W 3x7
AS AN EXAMPLE Vi ;;—5” 12 4412 ss/:l;fs 13 27+24
55 -
TQ\/ iz 5 9 ,,O % 6 200+50 ;VOVN—EIZ\
6 0 0 2 ] ;7:7 «};oowio
[+8+32=4] 5] 1 2 8, PoUBLE fo1 19 TRifLE 200
46w, w147
1434~ " 149
W —\.‘ -“
@iw W [ / PROBABILITY 1% THE 3TUPY OF HoW oFTEN SoMETMIiNG MiGHT
s HAPPEN . THE BEST WAY To LEARN ABOUT pROBABILITY i5 By
= ANV LEARN ABOUT FRORABILITY/ EXPERIMENTING - TN THiS ACTIVITY , You EXPERIMENT WiTH Picgs
WHENWEFLIP | THE cavce I P (27 you iPTHE TOSSTHE DIE e TAKLY TorAL
ACoiN., | oF HEADS oMiNG | 20iN 100 TIMES| ANp RECORp THE
e _ %’izﬂii‘m wngwﬂawwrmig‘:ﬁﬁu Um‘f_’:gf El ! il g
P~ = THE CHANCE 7TRYIT T
R Gf,“Twwz mfg‘ﬁ;}’{; REFEAT 60 2| L) 2 | Hit ] f
5 ,,,&_L Py TiMES/ [] 3 | HH Il EXAMPLEONLY8
=RELORP ALL YOUR RESVLTS IN THE TALLY TABLE BELoW % :’ x T'I-'T | ;2
HEAPS TALS =WHAT FATTERNS (2 6 | Hi HH | 1
HH HH HH- HH HH HH Pip You NOTicE?
HH B EACH NUMBER OCCURS (CLOSE T0O) THE
HH H I SAME AMOUNT OF TIMES.
HH HH HHE | HH e o
i = WHicH ouTLoME 15 MoST PoPULAR ¥
HH HH- HH HH FORAET 1o TALLY PRAW YOUR, RESULTS oN A PicToGRAFH !
EAZH FLIP o)
EXAMPLE ONLY e e @

WHAT HAPPENEP AFTER looFl—If’ﬁ? BOTH TOTALS ARE EQUAL
I% THE FNAL oVTeoME “'50-50"7 YES
THE PROBABILITY OF TALS TURNiNG VP s _ 50 |

PRAW yoUR. ResuLTs

oN A PiE 4RAPH .

= LisT 5 oTHER. EXPERIMENTS wWHicH
WOULD HAVE EQVAL OUTCOMES.

[£) TRUE-FALSE QUESTIONS
[2)YESN UESTIONS

(2] MALE-FEMALE BIRTH
(2 TUQN LEFT OR IZIGHT
[5]UPSTAIRS OR DOWNSTAIRS

RESULTS

B l
]
FREQUENSY

= T0 LALLILATE PROBABILITY, p =

IF WE ROLLEP THE picE ONE
MORE, LALLVLATE .

F("ﬁﬂ'"‘m Aong) = ONE SlXTH F(4ﬂ1‘~44 FOUR) = ONE SIXTH

p (aerrina4 wo) =_ONE SIXTH o (errinaarive) = ONE SIXTH

p (4eTringA miree)~ ONE SIXTH p (4emringa stx)- ONE SIXTH

Amp ALL THESE FRoBABILITIES TPGETHER. - Wi f)

wHy?7 ADDING UP ALL THE PQOBABILITIES YOU GET ONE.
PROBABILITIES ARE ALWAYS BETWEEN O AND 1.

NUMBER OF WAYS AN EVENT CAN 0CCl

| TOTAL POSSIBLE EVENTS
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VKRS )

NiFTY NUMBiKz PANDY PELigﬂgALS
38-16 = Ir6 + 1'7 =_2
46 +49=95 23+ 19 =47
48 + 45=_93 2.5+ 3'5‘=_?,
53 —27=-_26 19 —o0-8=_1_
40 x |1 =440 2:4-1-6=08_
32x 4 =128 lo x 5-61=56]
28 x 7 =19 1oo x 23-4=2340
45+9 =_5 432 +10=432
32+-8 =-_4 69 % as avecimacis 069
64 — 26=_38 9% asavecimacis 009
RADiICAL ROMANS EXTRA EXAMPLES
LIf=52 471 + 400 = 871
LXxv=_/5_ 800 + 800 = 1600
€xxv =125 600 - 321 = 2/9
cc =% 700 — 490 = |
MM - 1o x5 =
L = 5o 234 x |0 =%
& _C = o0 422 + 100 = 432
29 CCC = 300 8oo = 40=_20_
m M =000 999 + 888 = 1887
MMM =-3000 999 - B8 =_[I__
THE QViNTVS QUIZ

I LEFT HoME AT _8:05

IT TooK 35 MiNVTES To

GET TO 5¢HooL . SCHooL WENT
For,_65 __Hougrs. SVPPER.
wAS AT 925 TopAy . T WAS
OUT oF BEp FOR [6hl5m HouRS,

oVTOFBEP 7-15
LEFTHOME g-05
4T To scHool 8°40
SéHeol FiNisHED 3- 10
ARRIVED HOME 4 00
SUPPERTIME 925
INTOMYBED |1-30

B
WHAT ARE THESE AVERA4ES WE OFTEN VSE 7
= MOPDE THE MOST COMMON DATA
= MEPIAN THE MIDDLE NUMBER WHEN ALL ARE PL l R
= MEAN _THE SUM OF THE DATA DIVIDED BY HOW MANY ARE
= RANGE TAKE THE LARGEST DATA AND SUBTRACT THE SMALLEST

WHo AsE I.Q. MASS kg
m PAP ToPFP 40 100 80
MVM ToPP 35 110 50
EAMLY | tai Tore 12 120 35
STATEmGS | ava vorr 6 110 30

KiKi TOPP 6 110 25 |

MovE AGE 6 meavmiE 20 Meviawae — 13
wE rave _ 34 veanmass 44 KG  muss rawe SSKG
MepiaN Mass 35 KG mope T 10 Meanzq._ 00
z.a RWGE _20  MEmanzq 0 -msmmzlsxl'mis

\TOPF/TALLES/
[
—_— PAD'S GOLF $CORES LAST
TAI*$ HOVRS DoiNg HMEWORK | I yEAR WERE :

LASTWEEK ® 25 4,2.,1,5,0. | | 72¢6,70, 67, 73,‘6874
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During the year collect all the examples you can from newspapers and
magazines, of the number SEVEN.

Stick them to this page.
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$30 < > $10-$1=-%$9

$10-$1=$9
$27
+$ 2
$29

2?2?

The $30 Meal

Three mathematicians share a meal at a restaurant and split the
bill. The waiter charges them $30, and they pay $10 each.

However, the waiter comes back afterwards and says he has
overcharged them and the bill should have only been $25. Of the
$5 they are owed, they agree to take $1 each and tip the waiter
the remaining $2 to thank him for his honesty. They have now
each paid $9 for the meal.

To sum up - the mathematicians originally paid $30. They each
end up paying $9 each, 3 x $9 = $27, add the $2 which the
waiter received and you get $29. Where did the extra dollar go?

If it takes 5 men, one week
to dig up a field of carrots,
how Fong would it take 8

men to do the same job?

No time at
all...its already
been done!
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